TNPSC GROUP II/ITA PRELIMS

TEST- 2
Who headed steering committee of Constituent Assembly?
(A) Jawaharlal Nehru (B) Radhakrishnan
(C) M.N. Roy (D) Rajendra Prasad
TR WevemnoLiL] BlFeoorwl FemLiuler aufl&TL B & WelleT Hemeval WITp?
(A) meuamieumey CH® (B) 7ram&) (b 6iq 6uoT 60T
(C) M.N. gmul (D) prexnps Ty Vgsns
Match the following
(a) National Human Rights Commission - 1. 19th June, 2012
(b) Right to Education Act - 2. 12th October, 1993
(¢) POCSO Act - 3. 4th August, 2009
(d) Right to Information (RTT) Act - 4. 12th October, 2005
QUITHSSIH
(a) GxHW el 2 flemln &6 b, 6m600TWILD h 1. 85601 19, 2012
(b) mevadl 2_flemnd &L L LD - 2. 91&CLTUF 12, 1993
(¢) GumaGsm (POCSO) &L LLb - 3. @L&6VL 4, 2009
(d) ssaiev Ml 2 flenwgsFL Lid (RTI) - 4. 915GLmUF 12, 2005
@ b @ @
A) 4 3 2 1
(B) 1 4 3 2
© 2 3 1 4
(D) 4 1 2 3

Which among the following was not contained in the original constitution which came into
force on 26t January, 1950?

(A) Fundamental Rights (B) Fundamental Duties

(C) Directive Principles of State Policy (D) Human Rights

GLpaevoTLeuMmIeT 61%H getaulfl 26, 1950-60 HEML (LNMMEE QUFS @BHTI TFLILF
FLLEH 6 @LIDOLMHMIIHESHN6Vem60?

(A) 9qliuemL 2_flemingser (B) ©jiq LILI6mL8 &L 60)LN&6T

(C) oipa @BMIWemmE GaHTLLIMH &H6T (D) werfls 2_flemin et

Which of the following Chief Justice of Supreme Court served as acting President of India?
(A) Justice Subha Rao (B) Justice M Hidayatullah

(C) Justice Y.V. Chandrachud (D) Justice P.N. Bhagwati

NeTeu@ld 6The 2 &5 HBH 6T FHemevenn BH LS @bHuwmalear sMo&meds &l rs:
HMELVEUTMTSH QI F WGVLIL (NETETT?

(A) BEUS sLUmmel (B) B9USH M @5 wglisveurr

C) BeUB Y.V.ehHTEL (D) 39US P.N.LUsE
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TNPSC GROUP II/ITA PRELIMS

TEST- 2
Who appoints State Information Commissioner?
(A) The President (B) The Governor
(C) The Chief Minister (D) The Prime Minister
LOMTBl6V H&HaU) 3 enevorTWem BT WTy?
(A) gearm@u) (B) <4eBmBy
(O) psavemEFT (D) Ygsr

Who among the following person can serve as a Chairman of National Human Rights
Commission?

(A) Retired Chief Justice of India

(B) Chief Justice of India

(C) Serving Judge of Supreme Court

(D) Chief Justice of High Court

eteu@d mUTSefled Wy GCsHAW wWefls 2 flenn LT WS el Ts
LeooflwWmmHm (WoLgujLn?

(A) pwiey QUOD QBHH W HeevenLo HBH LG

(B) @B w semevenn BH LIS

(C) o6& BHWweTm BHLSWITSEH LicoollwmmmiLielF

(D) smGUmems W 2 WIHH L06Tm Senevenin HH LIS

Central Vigilance Commissioners holds the office for a tenure of

(A) 2 years (B) 4 years (C) 5 years (D) 6 years
IDGH U & 600TS Tevur1L1L| 2y emevorwifledr LiGall&esmeulnd_

(A) 2 60T () Se6iT (B) 4 oue001®&6T  (C) 5 opeoor &6 (D) 6 h6001(H)\& 6T

Which schedule deals with the allocation of seats in the Rajya Sabha to the states and the
Union territories?

(A) 5th shedule (B) 4th schedule

(C) grd schedule (D) 2nd schedule

IDMBleVMBIGET WMHMID weflwer LNTCHaFmIsGEHEHSHTET (NMHleVBEIGTme @)L @SI&EH0
LM eNleufl& @D 3L L 66 6uor 6TSI?

(A) 592 91" L_6emr600T (B) 492 9|1" L_eu6mev0T

(C) 398 9" L euemeoor (D) 228 91" L_66v)600T

Which of the following Article does not deals with Co-operative Societies?

(A) Article 19 (B) Article 43B

(C) Article 243 (D) Article 243-ZH
LNetraumeausTaimmley eThS aq05S Sanl hme| FhisGGHmS LImm Gl elevemnen?
(A) eqUd 8 19 (B) equdai 43B

(O) enrsg 243 (D) eqrg g 243-ZH
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TNPSC GROUP II/ITA PRELIMS

TEST- 2

10. Which of the following act as the protector of the Indian Constitution?

11.

12,

13.

14.

(A) Parliament
(C) President

(B) Supreme Court
(D) Prime Minister

G LD G 600TL_eUMMIET @ HS W S TFWevennLILN6r LIMSISHTaI6VTTS 6N 6ThG eSS 6T&?

(A) BITLMTEBHLO6TMLD
(C) germH LG

Match the following
(a) Rajamannar Commission

(B) 2_5F B&H nermLd
(D) Yz

1. 2000

(b) Sarkaria Commission 2.2007
(¢) Venkatachalaiah Commission 3.1983
(d) Punchhi Commission 4.1968
QUMTBS S &

(a) JTQLOEOTEOTITIT 24,60)600T LLILD - 1. 2000
(b) FrssTFIWLMT 94L,6m600TWLILD s 2.2007
() QEUMIGLITEF6M6VUIWIT 2606007 WLILD 3 3.1983
(d) LeT& op6mev0TWILD = 4. 1968

@ ®m @ @

A) 4 3 1 2
(B) 4 3 2 1
© 3 2 4 1
(D) 3 4 1 2

Which Article deals with Legislative powers between center and state?

(A) Article 245-255 (B) Article 256-263

(C) Article 264-270 (D) Article 275-282

NSHW OTBlV II&H&HEBER L CWWmer FULIAWHMID AH&ETTHIG6TL LmHN&
GOIULNEW 9053 6151?
(A) U588 245-255

(C) eqr&sI 264-270

(B) 9058 256-263
(D) @405 8! 275-282

Which part of the Indian constitution deals with Amendment procedure of the constitution?

(A) Part XI (B) Part XX (C) Part XXIV (D) Part XXV

@B W TA WevemLnL 1L edr 6TH S UGS TR WevenLnLiL FLLEDHBHS
alflwenmaenerll LMmM& GMILILHSmSI?

A) ue® XI (B) ue® XX (O) uES XXIV (D) ueS XXV

The second Municipal Corporation in India was set up at

(A) Bombay (B) Patna (C) Guwahati (D) Chennai
@BHWTallev @ T MeUg! IDMHST TS 6TMHIG SeMD&HSLILIL L GI?

(A) ubumul (B) um_eorir (C) mayammss (D) Q& 6tremr60T
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15.

16.

17.

18.

19.

TNPSC GROUP II/ITA PRELIMS

TEST- 2
Which of the following is the first Federal state in the world?
(A) United States of America (B) United Kingdom
(C) India (D) Australia
L edTeuneueoTeuMMIley 2 60 E 60T (LN&H6V Tl L TER BT 6112
(A) 910w fl&s R&ER W BIT{H &6T (B) 265w predlwiib
(O @bswmr (D) ewev®EGredlwim

Which of the following is incorrect about Election Commission?

(A) It is an independent body

(B) It contains Chief Election Commissioner and three other Election
Commissioners

(C) Members are appointed by President

(D) The retinement period is 6 years or 65 years of age (whichever is earlier)

LY edTeuneueorelMMley G560 3L,60600TUILD LIMN S6UMITET Sa MM 6TSHI?

(A) @8 @G &SHHTIOMET emLLIL

(B) @8 samevening CHIHEL LeM6oTWl LOMMIND e6Tm CHTH6ED 2606007 U TS 60)6ME
Q& mevoT(h 6TETS!

(C) 2 M NeTI&:6T GIQUITEHS SH6Mm6eValTMTeV HIUILNE6TLD Gl&F WIWLILI{H 8 6dTm 60T [

(D) usellameuld 6T6dTLIGI 6 6U(HLBIGHET 6V6VE 65 QUG QU (@F 6V (LNIHS W SI)

Which state had first passed the Lokayukta Act (2013)?

(A) Uttar Pradesh (B) Odisha

(C) Andhra Pradesh (D) Rajasthan

GeLITs: Y WEHST FLLGHMG (2013) WSH6dl6v BlemmGeummluwl LOMBlevLd 6151?
(A) 2 5879765 & 1D (B) @&

(QRCNIL AR (=3t (D) pregeivgmeot

Who presides the joint session of the Parliament?

(A) Speaker of the Lok Sabha (B) Chairman of the Rajya Sabha
(C) President (D) Prime Minister
BTLTEBLOTMSH 6T Fol (B Fal LEFHMSGS SHem6venin UG LILIGUT WIMJ?

(A) D&G&6aTEM6U FLMBITUIST (B) pmrgawl sUmell6dT Semevally
(0O) ®QWrsHs senevall (D) Ygsry

Which Constitutional Amendement gives the disciplinary power of disqualifying a member
of the house on the grounds of defection to the speaker?

(A) 52nd (B) 361 (C) 42nd (D) 44™

61HS SITFWevenlil] FLLSEFMHSSD, FUTBTWLSGBSEG 2 mllarisaner &SLA5
SMeUedeT 3jIq LiLienL_ule S&GHUILLIL QFUWIWLD SH&HTISS aULDHIGHMSI?

(A) 5298 (B) 36%& (C) 4202 (D) 442e
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200

21.

22,

23.

24.

TNPSC GROUP II/ITA PRELIMS

TEST- 2
Which states has highest and lowest elected members to the Rajya Sabha?
(A) Uttar Pradesh and Assam (B) Madhya Pradesh and Sikkim
(C) Punjab and Manipur (D) Uttar Pradesh and Sikkim

6TH& LOMBIEVMEIGET, TTRW FUmellev W& 2 WIHE MHMID Gembhs CHTHOSH &6 LILIL L
2 MINILeTI86T Q& metor(h 2_6TemgI?

(A) 2. 550701 VMyCsFIb IDMHMILD FTLD (B) oW NyGs &b Inmmih F&HIND

(C) uEsTLI InMMILD LD6oof1LILLT (D) 2. 557U UFCssLd InHMILD FEHHID

Who can declare financial emergency in India?

(A) Finance Minister (B) Finance Secretary

(C) Prime Minister (D) President

@B Wmallev BIFH QBHEHSL Blenevenwl LNTsLeriiu®GSSILeT WIT?
(A) IS sjewEEFT (B) mI® & QEwevmerTy

(C) Yysoy (D) 69Wras semevel

Why Santhanam Committee was formed?

(A) To review about Center State relations

(B) To investigate about State Reorganization

(C) To submit reports about Judicial Review

(D) To investigate about corruption in India

FHSMETD (W THMETH gHLOSSLILIL L SI?

(A) LEHW, MBIV 2 Mme|&BemeT LM LTl

(B) nmplevmisseT nmFremnliL] LUmn)l el & mremesor Q& il
(C) B8 yeorgmuiey UMM M&NS HMTEH Cl&F U

(D) @pswmeilev 2arp6b LiImN) eN&mifl&Hs

The headquarters of Central Vigilance Commission is located at

(A) New Delhi (B) Kolkata (C) Chennai (D) Hyderabad
DG G U 560078 Teu0T1L1L| 2606007 U & FH) 60T &60)16V6MLOLISLD | 6MLDBSIGTET @)L LD
(A) ysl 196060 (B) Q&Mev& 55T (C) Qs eTem 60T (D) emamsrmuns

What type of representation system followed in the elections of India?
(A) Alternative Vote

(B) First Past the Post

(C) Block Vote

(D) Two-Round Systems

@BHWTeler BOLOUMID GHIHV&EN 6HS ealemswmear NISHBISHESsHa wenm
NedTmMmUILIL L GI?

(A) LTHO AIMES WD

(B) 9195 68 (5860061 6T600T600T 1 86M 85 19 LILIEnL_UN6V G\LIMIG6D

(C) 05MG&H G Wenm

(D) @® &hm (pemm
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25.

26.

27.

28.

TNPSC GROUP II/ITA PRELIMS

TEST- 2
Which among the following are exempted from the RTI?
(A) Municipal Corporation (B) Road Authorities
(C) Intelligence Bureau (D) Government Departments
FLESETLIMMIET a5MEG& SHaew AMun o fleownd FLLEHOmHS levsE
SjeflEs Ll (HeTerg?
(A) DTBEFTLE (B) QM) 6H&Mem6v 8 5160 M & 6T
(C) 2-emeydgiemm (D) o7& g s1emm&6T

How many seats are reserved for women in Panchayat bodies?

(A) 1/31 (B) 1/4% (C) 2/31 (D) 1/2nd

LUEGFTWSS  Jemlilsefley QUEISHEh&EE — eelalene @LMBGET  S1&HH0
QFwwlIUL_heTers!?

(A)1/3 (B)1/4 (©) 2/3 (D) 1/2

Which committee backed the idea of state funding of election?

(A) Tanka Committee (B) Tarkunde committee

(C) Indrajit Gupta Committee (D) Veerappa Moily Committee
THS GW ATH T BIHWS6 UL eTTer CHISH608 66T 5115557

(A) LBIST G (B) sMni®Hs G

(C) @BPrLs GLUST G (D) efyuiL Qumiied Gw

Consider the following statements

Assertion (A) The JVP committee was set up to re-examine the issue of linguistic re-
organisation of Indian states.

Reason (R) : The committee members were Jawaharlal Nehru, Vallabhai Patel and
Pattabhi Sitaramayya.

(A) Both (A) and (R) are true, (R) is correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

FELESTEID Fo MHEME 56160156 LD

Fadimi (A) ;. JVP w @bsHwumeiler Qumbleimfl nmpBleuni&seT emoliLigl LM
LOILfIEevener Q&L S enn&ELILIL LS.
smgeord (R) :© @bs Gweler 2 milIleriseT Qealamieumey GhH(H, aleVeVLIMUl LIGL6Y

MHMID UCLTE ESTrmmiiwm L.
(A) (A) nmoid (R) &1, (R) - opeoral (A)-eor siflwimet ellengsssLn.
(B) (A) mmmib (R) &1, (R) - 60181 (A)-eor iflwiment eflemgssn 6060
(O (A) &0 epeormev (R) euay
(D) (A) meugy syeormev (R) &1f]
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29.

30.

31.

32.

33

34.

TNPSC GROUP II/IIA PRELIMS
TEST- 2

Which one of the following term is not related to ‘NOTA’ in the voting system’?
(A) Against all (B) Negative vote
(C) Disapproval of all the candidates (D) Invalid vote
L9 60760 (1H 61 60TEUM MIGIT 6THS QI &F M6V “"GBITLLIT" 6UMT&HE (LML 6T QST TLI6L6VTSHSI?
(A) SimeTaUH &G TH TS
(B) er®JIDemm 6UME &G
(C) siemetr83 Caul LM I8ememud BITmssil& s 60
(D) QFeveuTs UMEG

Lok Adalat was introduced in

(A) 1950 (B) 1987 (C) 1984 (D) 2000
Geus BMeLS CHTMHMINGHSHLILIL L 600T(H)
(A) 1950 (B) 1987 (C) 1984 (D) 2000

Which amendment of the Indian constitution inserted Panchayat?

(A) 73 (B) 42nd (C) 44 (D) 74t

hs Q@BHW  SATFWeLY FLL HOESSSHET  eped  LEBHFTWSS TR
@660 SLILILL&I?

(A) 73# (B) 422 (©) 44 (D) 74>#

Which of the following is not related to Eleventh Schedule?

(A) Public Distribution System (B) Non-conventional energy sources

(C) Libraries (D) Fire Services

LY edTeuneueoTel M M6V LIS Q60T MedTMITeU Sl 3L L6)60)600T U L_60T QIGTL L] D6V6VTSH S 6TSHI?
(A) QuTgl ANBFICWITS (WM (B) L0 &M Q5MMEV ELO6VHIS 6T

(C) mmevssmiIG 6T (D) SwiemeroriL| S160)M&H6IT

Who is the Chief executive officer of the Corporation?

(A) Municipal Commissioner (B) Mayor

(C) District Collector (D) Councilor
OTBHSTTLFRUNT Hemevemln BITeUTsH HH &Ml wimy?

(A) B&HTTLE 21606007 WLIIT (B) Guowy

(C©) umaul L sl @ wiry (D) e erHevi

How many times Grama Sabha meetings held in a year?

(A) 4 (B)5

(C) Monthly once (D) Yearly twice

@ QUMBLEH 6, HKIMD Femll Snl L BIH6T 67856060 (LM HEML QLIS MSI?
(A) 4 (B)5

(C) Iz e® WD (D) 2be0r(0)&:& QUetor(® LPedm
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35

36.

37

38.

TNPSC GROUP II/IIA PRELIMS
TEST- 2

Arrange the three tier Panchayati Raj System
(A) Village Panchayat-Intermediate Panchayat-District panchayat
(B) Panchayat Union-District Panchayat-Village Panchayat
(C) District Panchayat-Village Panchayat-Intermediate Panchayat
(D) Village Panchayat-Town Panchayat-District Panchayat-Intermediate Panchayat
eLNEOTM () & (& G606TE Q& MTetoTL LIGHFMWLSSI TR emlnlilemerr auflensliLi(B &S5
(A) I LUEHFTUWSSI-@) 6L Blemey LIGhFMUWLGSS-0TaIL L LIEhFTUIS S
(B) 2erpm& spedTMIWILD-OMEUL L LIGHFTUWSSEI-SHITD LEhFTWSSI
(C) eIl L UEpsFTWSSH-HITD LEhF TS SI-@ ML Blenev LiEh&F TSI
(D) | g LEhEFTWSSI-HE&HT LIEhFTWSS-0MeUL L LIEHTF TS H-G)6mL_Hlem6v LIEHF MUSH S

Choose the incorrect pair

Country Parliament Name
(A) Japan - Diet

(B) South Africa - Parliament

(C) Israel - Knesset

(D) Russia - Congress
SHEUMITET @ emetoTenll CHIHG S0

LG LUMFTEBL06TM QLI
(A) saLaLrmedT - Lwi

(B) azer o1 flGasm - LI M@ L0 60T M LD
(C) @e6vGBrev - QBA&FL

(D) gequirr - SIS F6en

Which article emphasis the Parliament to restrict or abrogate the Fundamental Rights of the
members of armed forces, Para-military forces, Police forces, Intelligence agenices and
Analogous forces?

(A) Article 33 (B) Article 34

(C) Article 35 (D) Article 31

61HS 4TSS @Imemialld, QUITEH DB s HTHGN Lieooflulley 2 6Temel s ena @D,
Ljeveormile] mlmiaermigetfley  Lenoflufley 2 6TamalfsHEhHEGWm, Guaih @ eursGermh
QEHTLILMLW QFTemevs QSTLIL LeolWmenI&EehsE QUITBHSID g LlLemL
2 flemlngeneaT BITLMEBHL06TMLD STL0mefl&h @G HBETTHmS 6Ued S SR MmSI?

(A) eq058l 33 (B) equdai 34
(C) e90531 35 (D) e97581 31
Psephology is the study of

(A) Elections (B) Rights

(C) Constitution (D) Government
BB TSH60 LIV 6TeTLIG! LmmMlw sevellum@Lb

(A) GaIsH6Lo6T (B) 2_flemLnsser
(C) oirsm wevemLnLiL (D) sypFmmIssLID
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39

40.

41.

42.

TNPSC GROUP II/IIA PRELIMS
TEST- 2
Which of the following is not mentioned in the constitution?
(A) Emergency Provisions
(B) Leader of the opposition
(C) Supreme Court
(D) Comptroller and Auditor General of India
L edreupeusoreummilev eT& T&wevemnolitley ML L ellsvemnev?
(A) 9jeusrmBlemevll LNTsLeorh
(B) eT®I&L 05 Seneval]
(C) 25565 weTmLD
(D) @B W He0606mINE 8560018 G 5 & 600185 60)8 WLITEIT T

Which of the following is incorrect about Article 21A?

(A) It added by the 86t constitutional Amendment Act of 2002

(B) It provides free and compulsory education to all children of the age of six to fourteen
years

(C) This provision makes Elementary and Higher education as a Fundamental right

(D) Before this Article, provision for free and compulsory education for children was
contained in Article 45 under Part-IV.

LY edTeupeusoreummlev a9 I8 &-21A LMW &6UMmTeoT Sn MM 6TSI?

(A) @& 2002-@)6ir 8628 TR WVeNDLIL] HHEHSHEF FL L SH 60 eLpeulnms: CFI&HHLILLL

(B) @8 <01 PSHL LG ETTENG UG euenTulevmeT enaibsl &LbHenSSHEhSELD
@eveldF IDMMILD &L LITWES Sevallenll aUpmBIGRMSI

(©) @& gLl MM 2 W[ sHevalleml gL 2 flennseTTs: 2,86 &% Sl

(D) @p& eQIGEHMES (N6, GLHNEHEHEHEHHTET @6eValF MmMID SHLULTW Vel mers
UGS V-6 647581 45 BLd QBHSS!.

Who act as a guarantor and defender of the fundamental rights?

(A) Supreme Court (B) The President

(C) The Prime Minister (D) The Chief Justice of India

SlitemL 2 flemn&ErsEE 2 .557aMsHD eflliluarmseabd, LMSI&STaI6TTH6|LD
QFWeLLI(HLIGUT WITF?

(A) 265 B WaTOD (B) &Qwisg semeveuly

(O) Wyswy (D) @BH W semevenlo HH LIS

Which article grants protection to persons who are arrested or detained?

(A) Article 22 (B) Article 23 (C) Article 24 (D) Article 18
&S IDMHMID &MTeUed6L MAILILIGMES 6THTMTSH LIMSISHTEHGLD 6 TH S 6TSHI?
(A) a0d gl 22 (B) g 23 (C) grgs! 24 (D) eqrgg! 18

Page 9



43.

44.

45.

TNPSC GROUP II/IIA PRELIMS
TEST- 2
Choose the correct statement
1. Article 29 grants protection to both religious minorities as well as linguistic minorities
and extend to any section of citizens
2. Article 30 is confined only to minorities (religious or linguistic) and does not extend to
any section of citizens
(A) 1only (B) 2 only
(C)Both1and 2 (D) None of these
Flwmer gaHenmsd CHIHASH
1. Q&8s 29 g wommibd Qwumd FfHwmer FmumareanullarBaHEGld LUMSIsmLL
Iefl&EHMmE MHMID Gl Ln&serflar  emers gl Lflelleras @ BLIgssLILGSR S
2. qU58% 30 SmumaTemulerhiEE (08 Aeveudl  Qumdlulwey) GG
ATWMIGSLILL(RQ6Terg WwmmIb Gl wsEsaflar absll Lliflaflerme s

B9 HaLILLeilevemev
(A) 1L @D (B) 2 nL_(pd
(©) 1 bmHmiDd 2 (D) @eummlev ergia]dlevemey
Match the following
(a) Balwantrai Metha 1. Gram Sabha
(b) Ashok Mehta 2. Nagar Palika
(¢) 734 Amendment 3. Two-tier system
(d) 74% Amendment 4. Three-tier system
QUITHSSIH
(a) uUeveuBSTTUI CESHT 1. BIMD LUEHFTWLS S
(b) CHFTsEH GG 2. B&T Lmedlsm
() 738 g5lL HHSHSD 3. @ (® AHOEHS WM
(d) 74285 L HBHHSD 4. pTMHH &S LPEOD

@ b ©© @

A) 2 3 4 1
(B) 4 3 2 1
© 4 3 1 2
(D) 3 2 4 1
How many days a member of Parliament be absent from sittings of his house without
permission?
(A) 30 days (B) 60 days
(C) 45 days (D) 90 days

@@ UTTTEs6erm 2 mililler] NG QUMM 6THSM6T BT GHEHHEG 3| 6m6l
HL6ULY 56005 56160 S6VIHSI Q& MTETETITLOG) @)(HESHEVITLN?

(A) 30 BITL_&6IT (B) 60 BITL_&6iT

(C) 45 BITL_&6iT (D) 90 BITL_&s6iT
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46.

47.

48.

49.

TNPSC GROUP II/IIA PRELIMS
TEST- 2

The Consumer Protection Act of 1986 provides for the establishment Consumer Protection
Council at
(A) National Level only
(B) State level only
(C) National and State levels only
(D) National, State and District levels
1986-10 Qpe00r(h HISTCeUTT UMSISTLL &FLLID Iemellev BISHTGeUTH
LMSISTUL GWE&ameT ghLBSS allflel &S S)
(A) G W emailev DL (HILD
(B) inmmlev semadley L ()LD
(C) G5 W wmmiLd WmElev SjeTalley WL (LD
(D) GaH\w, IomBlev LDMMID el L Sjemeiley

Which of the following belongs to State list?

(A) Irrigation (B) Marriage (C) Forest (D) Education
L edTeumeusoTeuMMilev LOMBleV LIL QU6 FMTHS S 6TSI?
(A) umFeoTLD (B) & ®LoewoTLD (©) &M@ (D) seval

Who recommended the setting up of Lokpal and Lokayukta?

(A) Central Bureau of Investigation

(B) Administrative Reforms Commission

(C) Central Vigilance Commission

(D) Supreme Court

GeVIT& LML LDMMILD GeVITE JU|SSTen6l S emlnd: s LflESIenTsEHs el 6T&?
(A) DS W LieverT LIRS Sienm

(B) pljeuns E7EBHES 26016007 WD

(C) n&H W 600185600l | LIL| 21,60)600T WILD

(D) 2_55H% neTmMLD

Which of the following is not the existing legal and institutional framework to check
corruption and redress citizen’s grievances in India?

(A) Central Vigilance Commission

(B) Lokpal

(C) Election Commission

(D) National Commission for SC’s

LY edTeuHeueoTelM M6V 6T&I 2ETLOED LDMHMILD DS GHET GeNM&HM6T HT&H G SenLIL| 3{6V6V?
(A) DGDBUI & 60018560 1LIL| 3,60)600T LLILD

(B) GevmaLIM6L

(C) CxIm6vL oLemetoTWLD

(D) &rpss ULl CLT(HEEMer G5 & U 21,60)600T U LD
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TNPSC GROUP II/ITA PRELIMS
TEST- 2

50. What is meant by Quorum?

51.

52.

53.

(A) One fifth of the total number of members of Lok Sabha/Rajya Sabha constitutes the
quorum for a meeting of the house

(B) One tenth of the total number of members of Lok Sabha/Rajya Sabha constitutes the
quorum for a meeting of the house

(C) One twelfth of the total number of members of Lok Sabha/Rajya Sabha constitutes the
quorum for a meeting of the house

(D) One third of the total number of members of Lok Sabha/Rajya Sabha constitutes the
quorum for a meeting of the House

&60) D GI6) 6D0T 6TEOTMITEV 6TEOTEOT?

(A) wesememeal/MBlevmiIGaemeuUller QLMEHEH 2 miliIlarisefledd BHHL @ LMIG
6T600T 6001 1 856008, 260Y6U 60 [HL_5 16U S METEOT (&H6M MG 6U600T (G LD

(B) w&semeneal/nmplevmisarenaluiler QMEHs 2 mililearisefled LUSH0 @ LMKG
6T600T 6001 1 856008, 260U [HL_5& H16U G M ETEOT (&6 MG 60T (G510

(C) wesememal/MplevmIsGameneuulledr QMSEH 2 mililleriserfley LieflQreooriaey eam
LIl 6T600T600118560)85, D|60I6U6M U [HL_&5 316U G M & TE0T (& 60 M G16U6T0T & LD

(D) wasemenal/InmplevmisGemenalulledr QOMEsS 2 mililerisefle) eneTniley 6@ LIMKIG
6T600T 6001 1 856008, 2 60I6U 6D [HL_55&5161 G M ETEOT (&6 M6 61 600T (G510

World Consumer Day is celebrated on

(A) March 15 (B) March 16 (C) March 14 (D) March 11
2 V& BSFCTT Hleorld eTLICLITSE Q& mevor T LILIG& M
(A) bmgg 15 (B) & 16 (C) orrys 14 (D) nmgE 11

Which year Rajya Sabha constituted in India?

(A) 1948 (B) 1950 (C) 1955 (D) 1952
@B WTeNev 6THS 3L600T(H TR FLIMT SeMN&HHLILLLSI?
(A) 1948 (B) 1950 (C) 1955 (D) 1952

Which of the following provision needs special majority of parliament and consent of states?
(A) Number of Judges in the Supreme Court

(B) Use of official languages

(C) Elections to Parliament and State Legislature

(D) Representation of states in Parliament

LedTeu(BLD 6THS QFWEWNMMEEG LUMTTEBL6TMSSH 6T FImUiL] QUBLOLITETEND nMHMILD
LM BleVMBIG 66T LIL|&60 GHemer?

(A) 2_g5 BHeTm BS LIS Herfler eTevoreol18:60)85

(B) ojaviai6v Qomfl&emerl LiLeoTLI(H & S8 6V

(C) BITLMEBLO6TMLD LDMMILD LOMHI6VL &FLLL06TM G TS 60560

(D) BILMEBL6TMSF 6L InmBlevmigertfler LTS mIF & sialn
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TNPSC GROUP II/ITA PRELIMS

TEST- 2
54. Choose the incorrect pair

(A) Article 320 - Functions of Public Service Commissions

(B) Article 120 - Presiding officer may allow any member to address the house
in his mother tongue

(C) Article 249 - The Parliament to make a law on a subject enumerated in the
state list

(D)Article 365 - The governor acts as an agent of the President and

55

56.

assumes the function of the state government
SHEUMITET @) 6mevoTenlsd CHTHOSH (M

(A) eqsal 320 - QTS L1600l 86T 24,60)600T LIS &) 60T Q& UI6VLIT(H &56T

(B) eqyg sl 120 - Femevenld AR &M 6T 2 MILILNeTen TULD &H6oTS
STUALMAUIL Semaiuley 2 enFummm NS &V

(C) a5 a1 249 - mBlevll UL IGuIedlev 2_6Tem Senmas6T L&)
BTLTEBLOETMSFH60 FLL LD 2 (HeUTES @) UlsLD

(D) 6985 365 - SLEBBHI GG UWTESSHmeauller (P&saTTE Q&FWLLGE DT

WMMILD MBIV TS QFWeLTH&HmeT CLMHASTETSR M

The process of removal of judges of the Supreme Court and High Court is called as

(A) Impeachment (B) Dismiss

(C) Suspension (D) Resignation

2 FFEHFIDTMD WHMID 2 WihsH wermd HHUSHEGamer LgGalbH&EINn QFUWWWD (Lenm
@6lamm P& LILGIMmSI?

(A) sevorL60T BITLOMEOTLD (B) s@®ulpliy

(C) uewofl @emL_B&ssLD (D) pmgdleorminm

Which of the following fundamental Rights available only to citizens?

(A) Right to elementary education

(B) Protection in respect of conviction for offence

(C) Freedom to manage religious affairs

(D) Protection of language, script and culture of minorities

LeTeu@peusoreummiley 618 GG NEHEHHEG WLLGIWL  ROLESHEHFIQU QLI

2 flemowim@Ln?

(A)QBMLEHE sHevaldsamer 2 flemln

(B) 8Dm&HH& T8 S6u0riq &8 LILIG S N BHS LIMSISTLIL

(C) nsanibhs laMsTIkI&Eem6T BlFa& &G &HHH T

(D) e miumestemnulleory, QLOMLY, 6TWDE S, HVTEFMTTHMS LIMSHISTE S 56 &TETEHLD
2 flemin
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TNPSC GROUP II/ITA PRELIMS

TEST- 2
57. Choose the incorrect pair
(A) Article 53 - Executive power of the Union shall be vested in the President
(B) Article 61 - Procedure for Impeachment of President
(C) Article 63 - Office of the Vice-President
(D) Article 74 - Prime Minister shall be appointed by the President
SEUDTET G)e6uuTenlsH CHTHOS b
(A) 647881 53 - BlIIeUTS AHHTTHmS BlenmGalDQLD SFSTILD BeTTEHUS &S
QULPMmIGSLILI(HILD
(B) a47531 61 - GYWIHS Sameval] LgallBes el maeT
(C) agr681 63 - ST GG WITES HEMEVEUT E6UEVESHLD
(D) equsgl 74 - sl GlQWIsg SemnevelFmev Bld&s LG ey

58. Which of the following committee was set up for “Reforms in criminal justice system”?

(A) Narasimhan Committee (B) V.S. Malimath Committee

(C) L.M. Singhvi Committee (D) Harlal Singh Kharra Committee

‘Somallwey  B5H el EFIHmESHISHEEHHETS" LIaTal 6hHE GHUW

M SHHLILILLGI?

(A) BTAIDLET &G (B) v.S. omelling & W

(©) LM. mied & (D) amieumev G\l ST G W
59. Match the following

(a) Directive Principles of State Policy - 1. USA

(b) Fundamental Rights - 2. South Africa

(c) Councurrent List - 3. Australia

(d) Amendment - 4. Ireland

QUMTBSS &

(a) ore OpMIWwenme CHIMTLLIMH &6 - 1. USA

(b) SqlilemL 2 _fleminger - 2. Q6T 9 LILNifl& e

(0) QuUmTsILILLIQUI6L - 3. QLG Gredlwim

(d) FLLEE®mSSD - 4. SWITUTHSI

@ M® @ @

A) 3 1 4 2

(B) 4 1 3 2

©) 2 3 4 1

(D) 1 4 2 3

60. When was an official Leader of Opposition recognised for the first time in India?
(A) 1969 (B) 1971 (C) 1970 (D) 1975
dHTHE_ AW B sTrlLTel SHemeveal] erlICLME @BhHwmaley (NHL (WLeNMUITSH
IBGESflEslulLTg?
(A) 1969 (B) 1971 (C) 1970 (D) 1975
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61.

62.

63.

64.

65.

TNPSC GROUP II/IIA PRELIMS
TEST- 2

Which of the following case declared that judicial review is a basic structure of the
constitution?
(A) Minerva Mills case (B) Kesavananda Bharti case
(C) Golaknath case (D) Champakam Dorairajan case
BLDG&600TL 6TH G USRI HHLIL|6ooTTTUICUTETSI, TF WevennLliLNedT 9jIqLILIenL LDFLD
eTeor STLIL6THHLUILILL &I?
(A) Weorgeur W6V aULPE G (B) Gamoaumerhsm LIMTTS aUpsHS
(C) CmMmavaBTs UGS (D) FlbLISLD ST TTR6T QULPE G

Who was the first Chief Justice of the Supreme Court?

(A) M. Patanjali Sastri (B) Mehr Chand Mahraja
(C) Harilal J. Kania (D) Bijan Kumar Mukherjea
2 55 BHTMSH DT 60T (LNFHL FHemevemiln HH LG WImy?

(A) M. usEp&s6d gmev s Hifl (B) CoJ&bmS AMT T
(C) amiflevmev J.seoflwim (D) YGgeT @My e

The liberty, equality and fraternity in preamble are taken from
(A) French Revolution (B) Russia Revolution

(C) Industrial Revolution (D) American Revolution

Wwsamruiley &SHH I, FIOSSHIND WMHMID FEHEMHTSHIIAIND HUemel 6IBIGRIHHII
QUDUILILL&I?

(A) Wymesta LUTL&) (B) geiqui L&

(C) Qsmdlev YrL& (D) sj@uifle&sm 4yl

Which of the following was not comes under Article 3?
(A) Increasing the area of any state

(B) Diminishing the area of any state

(C) Power to establish new states

(D) Alter the boundaries of any state

L edTeu(meusTeuMmlev 6T&l a9 &SI 3-60T BLD QU TEI?
(A) nrBlevsd 6T LITLienl AH &M S SIS 60

(B) nmBlevg 3 60T LITLIENLIS &60)M&E S 60

(C) UB W LOMBlEVEIGENET 2_(HEUTEH G AHFS&TFLD
(D) omBl6v & B 60T 6TELEMEVEEMEIT LD M M UI6M LD & 5560

Who appoints Ad hoc Judge of the Supreme Court?

(A) Chief Jusitce of India (B) President

(C) Prime Minister (D) Parliament

o F&F BFeTm HMHHTe0S (Ad hoe) BHULSHemw BlWLALILIG WTF?
(A) @bH W Hemeveoio HH LIS (B) &Qwisg seneveuly
(O) Ygswoy (D) BILTEBLO6TOLD
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66.

67.

68.

TNPSC GROUP II/ITA PRELIMS
TEST- 2

Arrange the following words in order as in Preamble

1. Democratic 2. Socialist 3. Sovereign
4. Republic 5. Secular
(A) 4-3-2-1-5 (B) 1-4-3-2-5 (€) 3-2-5-1-4 (D) 3-2-1-5-4

LYeTeuBLD UMI&en&HEem6T TR WevenoliL] (WN&He|emnruiey @MU iUl GeTers GLimey
auflensu®Ss6ln

1. ID&SETTLS 2. FI0G Sl 3. @) 6MMUWIITE00TEnLO
4. GIQWITE 5. D& FFTT LI 60600
(A) 4-3-2-1-5 (B) 1-4-3-2-5 (C) 3-2-5-1-4 (D) 3-2-1-5-4

Match the following states with their year of establishment

(a) Gujarat - 1.1963

(b) Nagaland - 2.1966

(¢) Chandigarh - 3.1974

(d) Sikkim - 4.1960

LN60TaU@BLD LOMBl6VIEIGHEMET M6l 2 (HeUMSHSELILILL aIBLECHTH QUTHSSHH

(a) &zIrs - 1.1963

(b) BI&eLTHSI - 2. 1966

(c) TFevorig&T - 3.1974

(d) 95910 - 4. 1960
@ b © @ @

(A) 3 2 4 1

(B) 4 1 2 3

© 4 2 1 3

(D) 2 4 3 1

Which one of the following was not Gandhian principles in the Directive Principles of State

Policy?

(A) To promote cottage industries

(B) To organise agriculture and animal husbandry on modern scientific lines

(C) To promote the educational and economic interests of SCs, STs and other weaker
sections of the society

(D) To prohibit the slaughter of cows, claves and other milch and draught cattle

LY edTeuneusTaummley SMTHH WG Q&TeTemnd SVVTH (T8 QBMILeNME CHMTLLMH 6T&?

(A) BImEsS QsTHlL&EameaT GLDLIMTH 60U Q&FUIS56

(B) GeuermenoremLn LDMMILD S&HTEVHEML QUETTLIenLI HeT60r 6165 EH 0T (LLEM MU 6mILNE 556V

(C) sMPSsILLGCLTT, LUphIGUleaTy Wmmih FepssHear melaemLbs Lliflaisemer
GBS M6t Hevall LDMMILD QLITIHETITSITT HEVET &ITE S 60

(D) UGESET, HETMIS GL_19.860T, LITVG&HTH &G LMMILD LMD &L0&EGLWD, all6uniE 8 ener
Q&HBMVEIMS HDL G&FUIGH6V
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TNPSC GROUP II/ITA PRELIMS

TEST- 2

69. Match the following

Natural national symbols Adopted year

(a) Peacock - 1. 1963

(b) River Dolphin - 2. 2008

(¢) Lactobacillus - 3. 2010

(d) River Ganges - 4.2012

QUM S &

@QUMmend CHFNUIF &) 60T60T 615 6iT JHMIGQSHTETETLILIL L 2,600

(a) Lulev - 1. 1963

(b) @M LmevL ot - 2.2008

(c) svmsGLIT GLF6V6VEN - 3.2010

(d) s 9pm - 4.2012

@ b @ @@

A) 4 3 2 1

(B) 1 3 4 2

© 1 2 3 4

(D) 1 4 2 3
70. In which state, Lokayukta was first established?

(A) Maharashtra (B) Rajasthan

(C) Odisha (D) Madhya Pradesh

GeVITE:-QLUIGSIT 6THS LDMBlVEH 6V (PG WNFNeL gMUBSSLILIL L SI?

(A) LaMMTeqLq I (B) pmegenug medr

(C) sp1q.5m (D) wsHW NyCs &I
71.  Who designed the National Flag of India?

(A) Pingali Surana (B) Meghnad Saha

(C) J.P. Kripalani (D) Pingali Venkayya

@BH W CHAWE Q&MU QIS SHAIT WITH?

(A) YIkismed @ redTeot T (B) Gn&eorms FMasT

(©) J.P. @ @umerflef] (D) LmIsmed Qeumietn Wi
72. In which case, the Supreme Court declared National Judicial Appointments Commission

(NJAC) as unconstitutional and void?

(A) First Judges case (B) Second Judges case

(C) Third Judges case (D) Fourth Judges case

HS QIPGHRL 2 FFHHNATOITETS, BHLSGET BIWDET JMETTUSNS &L L
NG LDMeTS! 6T6oT M6V &5 &?

(A) Lo BHLH&ET PSS (B) @uevorL_meual bE LIS &6T eupsH G

(C) epeTmmaugl BH LIS &6T aULpsH S (D) pretTameu gl HH LIS H6T aULns: S
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73-

74.

75-

76.

77+

TNPSC GROUP II/IIA PRELIMS
TEST- 2

In which year, the United Nations declared October 2nd as the “International Day of Non-
Violence”?
(A) 2010 (B) 2008 (C) 2015 (D) 2007
SGCLMUF 2-1D BTemeT, "FialCsHs ARDeNF [BIETMS" N.BT.FML 6HES 3,600T(h
Mleil &5 51?
(A) 2010 (B) 2008 (C) 2015 (D) 2007

Which article deals with the power of President to consult Supreme Court?

(A) Article 143 (B) Article 123 (C) Article 243 (D) Article 214

GUUWTHES Samevall 2 55 BHL6TNSSIL 6T HubCHTALILMS GOILILNGW FU LU Nfley
oT&I?

(A) 097581 143 (B) eqr681 123 (C) eqr851 243 (D) eqr681 214

Which of the following is incorrect about Judges of High court?
(A) Salaries and allowances are determined from time to time by the state legislature
(B) He can be removed from his office by an order of the President
(C) He holds office until he attains the age of 62 years
(D) He should have been an advocate of a high Court for ten years
LN edreupeusoreummilev 2 WFBEHIweTm BH LS &6T GMSS HaUummers 6TS?
(A) 2er@\wlb WMo LI &6T MBleV FLL D6TM&H STV elaliCGLME BlrevoruildsLiLGILD
(B) georm® LS UletT 2u6m600rUl6tT GLIflev 9eul Lge B QauwliLi@ ey
(C) 62-augl auwigl uenJ LgeNeu@ LIy
(D) sjeuy 10-aU@@GLBISGET 2 WFhG WwermsHe) alpsEsmlernds  Leoflwmmmlulmes
Geuevor(hLD

Which of the following is the earliest democratic institution created in the world for the
redressal of citizen’s grievances?

(A) American Institution of Ombudsman

(B) British Institution of Ombudsman

(C) Soviet Institution of Ombudsman

(D) Scandinavian Institution of Ombudsman

ELESHETLAIMHMIET Gl ESalar  Gomsamers Siss 2.a0&He WSSl
CaTHMNESELILILL I0&&6TTLS 3jemnLliL]| 6T5I?

(A) 91068 INE&S6T Gemm STLILITETT S 6mLLiL]

(B) WAL 196/ 10&&H6T GemmBTLILITETT 3j6minllL]

(C) Gomallwg D886 GemMBTLILITETT 3{eminLiL]

(D) enu@ss6v0r1q. GeoTell WLI6IT D& 86T GemmS T LILITETT emLoLiL]

Which article is called as heart and soul of the constitution?

(A) Article 32 (B) Article 21 (C) Article 14 (D) Article 356
6THS O I5S TR WevennLILN6r @& UL IDMHMILD QLE0TLOT 6T60TMI HeMLPE&ESLILIGGH MSI?
(A) agrdg! 32 (B) gl 21 (C) grsal 14 (D) e97581 356
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TNPSC GROUP II/ITA PRELIMS

TEST- 2
Who headed the Calender Reformation Committee?
(A) Pydimarri Venkata Subha Rao (B) Meghnad Saha
(C) K.S. Krishnan (D) A.C. Banerjee
BITLSTLL) ErennliL] &WedleT Semevelf WITJ?
(A) 98 My QeumIsL SLILMTTel (B) Gn&e0rms Fasm
(C) K.S. &\ peiq evoTetT (D) A.C. ureoTyeg)

Who hoists the flag on Republic day in Delhi?

(A) Vice President (B) President

(C) Prime Minister (D) Governor

GUWIS HeorsHeTCLMS QLevedlufley Q&M CumMMmILIaT Wmp?
(A) BI06E0TEGIQUITE S H60I6V6l T (B) @ win&ggemevelry
(O Jdgswog (D) aL@pmr

At present, how many High Courts have Jurisdiction over more than one state (not including
Union Territory)?

(A)3 (B) 4 (OF (D)6

SOHCUMGI THHeMe0T 2 W HHETMHEIGET QaTmimE GuMULL LMBlVk&SEHEHE
(weoflwetr NyGs&ih Haily) G HHETMOTS 2 6Tengi?

A3 (B) 4 ©s5 (D) 6

Which article empowers the President to summon and prorogue either Houses of
Parliament?

(A) Article 69 (B) Article 79 (C) Article 85 (D) Article 89

61HS SITFWevenDliL] QQISH6T CNVITES GIQUITEHS HeM6VeUF [HITLITEHLO6T M 5 6T
IMEUGHMET Fal_(HEUSMGSLD SVVG RESFHMaILILSNEGID AFH&TTLD 2_6TengI?

(A) 6478681 69 (B) eq47881 79 (C) eqr&51 85 (D) equs a1 89

Which of the following is not matched correctly?

(A) Union list - Insurance
(B) State list - Agriculture
(C) Concurrent list - Communication

(D) Both A and B
GLpaev0TLeuMmIeT FFIWMEG QUTHBHSTHIS 6T5I?

(A) LEHW UL IquIey - EIUNIA(C)
(B) inmmlev Ll 1quiey - G6U6ITITEuoTEm LD
(©) QumaILiILLIquIey - QBMTMVHOHTL LY

(D) A iommith B @gevor(hLd
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84.

85.

86.

87.

TNPSC GROUP II/ITA PRELIMS

TEST- 2
Who was the first Chief Justice of India?
(A) Sir Hari Singh Gour (B) Mehr Chand Mahajan
(C) M. Patanjali Sastri (D) Harilal J. Kania
WHL QBB WS Hemevenin HHLIG wimy?
(A) 7. anf1&Im eyl (B) Qwamy &#bs wammeger
(CO) M. usEh&Fed FmevH ifl (D) amiflevrmev J. seoflwim

How many Lok sabha members should sign the removal motion of the judge of the Superme
Court?

(A) 25 (B) 50 © 75 (D) 100

o5& hHWwerm BH UGS W LG BEHSHID QFUIWLLD STLDTETSenES Q& meooT(h6UT 618 5 60)60T
D& S&H6Ten6l 2 MILILN6TJ&H6T emE&QUIWEST L Galsuor(hLh?

(A) 25 (B) 50 ©) 75 (D) 100

Choose the correct statement

1. Article 269 deals with taxes levied and collected by the Centre but assigned to the States

2, Article 270 deals with taxes levied and collected by the Centre but distributed between
the Centre and the States

(A) 1 only (B) 2 only

(C)1and 2 (D) None of these

Flwmer &hHenmws CaIHES0

1. aqUsH&E 269  eeTLG WHSHW  ATFTev  NFHEGESELULULG eU@GeN&sLILLG
OTBlVBI&SEHHGL LS THSeflasliu@L alflenw umn Qsiflelssmms

2. aqU&al 270 eTedTLG SH W TFTe elFELILL MR aU@GeN&sLILLMR LMD &S W
OMBlev SIT&&eflen_Cuw LS THE Qsmarer U@L euflenuw Lmn) QslelléaHme

(A) 1 (b (B) 2 nL_(pb

(C) 1 wmoib 2 (D) @eummilev gaiLdlevemev
Which subject comes under the Concurrent List?

(A) Census (B) Prison

(C) Newspaper (D) Markets and fairs
LNeTau@BLD 6THS SHlemm QUITSHILILIL IQuIed et S aIBHMmS?

(A) 560075 &M LI (B) ®emm

(©) usIleams (D) sHems LnHMID ellemev
According to Lokpal and Lokayuktas Act (2013), Lokayukta and Upalokayukta are appointed
by

(A) The President (B) The Chief Justice of India
(C) The Prime Minister (D) The Governor of the state

GeLM&H LML LDMMILD G6VITE LUISHGIT FL L LD 2013-60T LI, GLMH L UISHST IDMHMID 2 LIG6VTE
QWSS Memel BlwdLiLeuy wmy?

(A) germH LS (B) @b w semevenin BH LIS

(C) YgsLog (D) wBlev ©4E@BHT
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TNPSC GROUP II/ITA PRELIMS

TEST- 2
In which of the following district of Tamil Nadu, the first National flag was woven?
(A) Kancheepuram (B) Vellore
(C) Trippur (D) Karur

SLOBITL L svieTeT LetTalBLd 6ThS Lomaul L &36v ell(h & emev @)hS ulmeller (n&ev CHF W&
Q&MY QBUIWLILILL &I?

(A) smE&ILTD (B) Geugyriy

(C) oLy (D) semy

During which congress committee meet, the National anthem was sung for the first time?
(A) Surat (B) Bombay (C) Kolkata (D) Lucknow

@QBSHW CHHW S&MRBIedler 6HS WITHTLIG (WHOTWPNSHVTH CHHAW  FoID
Umelgl L gi?

(A) &5 (B) wburrul (C) O&mLseSsT (D) ev&Georm
Match the following
(a) Sarkaria Commission - 1. Tamil Nadu Government
(b) Rajamannar Commission - 2. Akali Dal
(¢) Anandpur Sahib Resolution - 3. Supreme Court
(d) Bommai Judgement - 4. Union Government
QUM S &
(a) FissTlum W - 1. BLPS T&
(b) prgWETETTT & (WD - 2. 91560 Herld
(0) SpeThsHLT FTHL GIOmeTd - 3. 2. 55 BHneTMLD
(d) QumbenL GFLILY - 4, 1055 W T5
@ b © @ @
(A) 1 2 3 4
(B) 4 1 2 3
© 1 4 3 2
(D) 3 2 4 1
The Interstate council has been set up under which article?
(A) Article 283 (B) Article 356 (C) Article 263 (D) Article 358
LDIMTBlEVMHISEHEHES @60 CUILITET G 6THS QTS5 S eLND SeMN&SLILGSRMSI?
(A) a5 8! 283 (B) e8! 356 (C) agr881 263 (D) eqrgg! 358

Who described Indian constitution as co-operative Federalism?

(A) Granville Austin (B) Jawaharlal Nehru

(C) K.C. Wheare (D) Dr. Ambedkar

@B W TR WeevemnlIenL ol HMe| Fal LTL& eTedTml FGamlielF Wimy?
(A) B gmerelsvedl 6119 60T (B) 6uamieumev Gm(H
(CO)K.C. &fy (D) LasLT 9hCUSST
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96.
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TNPSC GROUP II/IIA PRELIMS
TEST- 2

Who has the constitutional authority to decide tax share of state?
(A) Finance Commission (B) Union Cabinet
(C) Planning Commission (D) Finance Minister
LNedTeu@pLd 6THS SjemloliL], LOMBleVmIGER&E&ETer allfl URSR®6H SMlsgs Sinmefle @l
HHTILD Q& Mevor(h 6iTemgI?
(A) BI& SL6m6v0TWLILD (B) 0&HW SemnFFFemeal
(C) BLL sLemevoruild (D) p1®) siemnEEFT

Education which was originally a state subject was transferred to the concurrent list by which
of the following amendment?

(A) 24th Amendment (B) 52nd Amendment

(C) 43th Amendment (D) 42nd Amendment

FBLHETL 6THS FLLSHHHSHS5H 60T eLpeuld SHeVallmetgl I0mBlev LIL1Quwed[BH S
QUMTSILILILIQUI&E LDMMHMLILIL L &I?

(A) 2478 &L S HSSD (B) 5298 L L &HBHSSD

(C) 4399 5L 5 HSLD (D) 4298 &L L @ HSSLD

The zonal council discuss matters relating to

(A) Economic and social planning

(B) Border disputes

(C) Inter state transport

(D) All the above

LDGDOTL_6V G (Wp BLDGHSHE00TL 675 QHTL LMo el WimkigGemeT elleumH sHmS?
(A) QUTERETTSMTTD LDMMID Fens HIL LD

(B) etevemev LI J& & evr60r

(C) nmmBlevmIsHEHeHES @ 6emL CUIWLITeT CLIMSHG6TSH S

(D) GoM&600TL. 2|6M60TSH SILD

Joint sitting of the two Houses of Parliament is drawn from which Constitution?

(A) Ireland (B) Canada (C) America (D) Australia

15 ITL_IT@5 LD 65T M & &) 60T @\ 2| emeu G 6rfleor Gl (b S|nFey 6TH G BT G
TR Wevenn NS mHE QuUMUILILLI?

(A) jwyeumH Sl (B) sseoTLIT (C) 91QwiGam (D) openeH Gredlwim

Originally, which list contains 47 subjects?

(A) Union List (B) State List

(C) Concurrent List (D) None of the Above
QLTDUSH 6V, 6THS LILLQUIGV 47 SI6DMEHM 6T 6 & T6uoT(h 6ITemS?

(A) LGP WILILIL1qUI6L (B) inmmlevul g uiev

(C) QumsIL UL 1g U6y (D) GumssevorL 615516 L8l6LEDI6V
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TNPSC GROUP II/ITA PRELIMS

TEST- 2
98. Who called Article 356 as a “dead letter to the constitution”?
(A) Ambedkar (B) Sarkaria
(C) Arignar Anna (D) N.A. Palkhivala
95 Sl 356-8" STFWevennLILNeT @MmbS &51950" eTedTml GmILILNL e wmy?
(A) SDCUGEHT (B) gisasmiflum
(C) 21MlEpT 2j6voT600T IT (D) N.A. usv&®eumeur
Match the following
(a) First Administrative Reforms Commission - 1. Verrappa Moily
(b) Second Administrative Reforms Commission - 2. Moraji Desi
(c) Parliamentary Legislation on State List - 3. Article 312
(d) All India Services - 4. Article 249
QUTBHSS&H
(@) Wwse Blieuns FFHMSS & W - 1. efyliu Quomuied
(b) @uevorL_meugl mliauns EHmHHS & W -2. Qryrgl CaH&Fmul
(c) wmmlev LILIQWIededT SLp LITFTEH6TMD FLULIONWMHMNSH - 3. 69755 312
(d) o156 QBT W LietoflaseT - 4. 09753l 249
@ M ©© @@
A) 1 4 8 2
(B) 2 1 4 3
© 1 2 3 4
(D) 4 1 2 3
100. Which of the following is not the commission on center-state relation?
(A) Kothari Commission (B) Sarkaria Commission
(C) Rajamannar Commission (D) Punchhi commission
LY edTeuneueoTeuMMlev, 6T&l L0SHUI-LOMHBI6V 2 M6 S6T QS ITLFLITET 24,6M600T WD {6V6V7?
(A) CamgsMfl W (B) spsarflum w
(C) grgweramy GW (D) yaT® BW

101. What is the term of office for Vigilance Commisioners?

(A) four years or until they attain the age of 62 years

(B) five years or until they attain the age of 65 years

(C) four years or until they attain the age of 65 years

(D) five years or until they attain the age of 62 years

DEMLN6D 55600185 T600T 1L 1L| 21,60 600T Ul T8 @588 T60T LG8 SHTeULD 6T60T60T?
(A) BT 24,600T(H&HET 6VEVGI SIEUTEHET 62 QUUIMS 6T U|LD GUEDIT
(B) b8! 21,600T(H&H6T 26VEVS! 3|EUTHET 65 CUUIMS 60 U|LD 6UEDIT
(C) BmetT@ 21,600T(H H6IT V6V I EUTGHET 65 UG 36O LD UM
(D) &b681 21,600T(H&H6T 36VEVS! BJEUTSHET 62 CUUIMS 6D U|LD 6UEDT
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104.

105.
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TEST- 2
Which commission recommended the abolition of All India Services?
(A) Rajamannar Commission (B) Punchchi Commission
(C) Sarkaria Commission (D) Venkatachaliah Commission
2Fev BT Licoofl&Hemer B85 LIl HSHIenTHS 2,6m600TWILD 6TSI?
(A) TMQOETETTT & W (B) yeor® BW
©) grsasmflum GWw (D) Qeaumi&s L &F 6060 WIT & (W
Who does not belong to the three-member committee which recommends the appointment
of Central Vigilance Commissioner and Vigilance Commissioners?
(A) Chief Justice of India (B) Prime Minister
(C) Union Minister of Home Affairs (D) Leader of Opposition in Lok sabha

DSHU  26TLPE)  SH600TSHMEOOTILIL] SLeM6DoTWT  OMMID  26TLP6Y  S600T8 T600T 111
SLemeoT TS em6T Blwdleass LflhaenTsi@Gld enerm GU Q& meuL & Wellh @ 6VeumgE el
wimg?

(A) @BHW Femevenio HEHLIS) (B) Upsoi

(C) EH W 2_6THIMM AHMDFFT (D) n&sartemel THIHHEL TS GHemevel
Which committee recommended the establishment of Central Bureau of Investigation?
(A) Punchhi Committee (B) Sarkaria Committee

(C) Rajmannar Committee (D) Santhanam Committee
LSS LHeverT Moy S gienm Bloiel U bSImIsSs & W 6187

(A) yaT® B (B) sgssmiflum Gw

(C) prgweTaTy & (D) #hsmerd G

Choose the incorrect pair

Types of representation in election Country

(A) Block Vote - Lebanon

(B) Alternative Vote - Australia

(C) Party Block Vote - Iran

(D) Two-round Systems - Vietnam

FHEUDTET GeneTenlls CHIHAS0

G550 60 LNTHB5) & 1615 5 60T 6160)8 8560 BT Se6T

(A) OBTES aIMsG - @6V LIGOT 60T

(B) nmmomi UG - SL6VH Credluwlm

O a5 Q5MTGH aMsG - FF [T IT60T

(D) @ &oo (enm - WL BmLd

When was National Human Rights Commission established?

(A) 1993 (B) 1998 (C) 2003 (D) 2006
G5 W n6vflE 2 flenings 6T ,em600T WD TLIGLIMG BloieuliLi’ L gi?

(A) 1993 (B) 1998 (C) 2003 (D) 2006
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107. Which of the following Delimitation Act was incorrect?
(A) First Delimitation Commission Act, 1952
(B) Second Delimitation Commission Act, 1963
(C) Third Delimitation Act, 1975
(D) Fourth Delimitation Act, 2002
L edreupeusTaumnlel QHTESGSH euemFwenm &L L Misefle) Saummers 6Tg1?
(A) W56V QBTG UMTUIENM I,EM60T LIS FL L LD, 1952
(B) @UeuoTL_Meugl QBTG UM TULIENM ,6M600TWLE &FLL LD, 1963
(C) epetrmmau gl QTGS auenTenlenm FL L LD, 1975
(D) pretTamaug QMG auenFulenm FL L LD, 2002

108. Which Amendment Act reduced the voting age of Indian citizens from 21 to 18?
(A) 615t Amendment Act (B) 86t Amendment Act
(C) 7314 Amendment Act (D) 42nd Amendment Act
6H% STFRWeemblILF FLLSEFHMHSSSHT epeulnms  SbHw  GleLnsserfler
QIMG&6T&EGD g Tersl 21 0 [HHE 18-3L86 GHMMEHLILLLSI?
(A) 6128 F\(FHHF FL_LLD (B) 86*8 S\(p&HHF FL_L LD
(C) 7328 R\p&HHF FL L LD (D) 4228 \(h&5HF &L L LD

109. Local Government is mentioned in which list of the 7th schedule?

(A) State List (B) Union List

(C) Concurrent List (D) Residuary subjects

2 TG TFmergl 76ug L Leuemeooruilev 6Tbg LIL 1qu160l6v @M LILIL (R eiTermg?
(A) rElevll UL Ig U6y (B) ng&SH WL LI 1quiey

(C©) QumsIL UL 1guley (D) @57 sie0ma6T

110. What is the term of office of Chairman and members of National Human Rights Commission?
(A) five years or until the age of 70 years
(B) five years or until the age of 65 years
(C) four years or until the age of 65 years
(D) four years or until the age of 62 years
CxFW wWwellgs o flensar UmeTLSEHar Semevall Wmmin 2 milieriserler
LIS 6N &8 MeULD 6T60T60T?
(A) 581 2,600T(HSH6T 36V6VSI 70 QIS UM
(B) 3581 21,600T(H&6T 2/6V6VSI 65 QUIUIGI G
(C) BTeT@ 21,600T(H&H6IT 2J6VEVSI 65 EUUISI QUEMIT
(D) mrest@ 24,600T(H &H6IT 6L6VEI 62 QUG QUED T

Page 25



TNPSC GROUP II/ITA PRELIMS
TEST- 2

111. Which of the following is not the powers/functions of Election Commission?

(A) Allotment of symbols

(B) Revision of electoral rolls

(C) Settles disputes and petitions referred to it by thePresident of India (or) the Governor of
a state

(D) It has no power to disqualify a candidate if he/she fails to submit election returns within
the prescribed period

LY edTeupeusorelmmlev LIMTTEHLO6TME S 60T B S TILD/QEFWLTH HVVTH S 61517

(A) G6OT6OTBIGHEMEIT 62 318G 6V

(B) eum&asmeTy LILLGUI6mev &\([HE S H60

C) @BHW GUWIKS Sl Slveg LMEle  <BEBHITD  UFuamersd
ILILLLUGILD De&s6T LMD LN JEEen s eners $is s 60

(D) Gaigev Q&Fve s SGaursadEeamer @ Coallumery GOV  3Lemetor WSS LD
FUFLILGHa160meu6 Weflel 3aian] HS&HUWIPLIL QFUILLD HF&TTLD @)6Vemn6y

112. Who has the power to remove the Judge of a High Court?

113.

(A) Governor (B) Prime Minister

(C) President (D) Judge of the supreme court

o Wy BHwerm BHLUS W BHGD AH&HTTLD C& Me0oTL_6UF WITH?

(A) s4EBBT (B) YpsLwor

(O garrsus) (D) 2 &5 B& e HHLS

National Human Rights Commission consists of how many members along with the
Chairman?

(A) 2 (B)3 ©) 4 (D)5

CxFW Wefls 2 flemlnGeT eMETUID SH6T HMEVAIIHL T GCHFIHI 615560607
2 MY eTI & em6m8 685 meoor(h6TengI?
(A) 2 (B)3 © 4 (D)5

114. Which committee has members only from Lok sabha?

(A) Public Accounts Committee

(B) Committee on Empowerment of Women

(C) Committee on Public Undertakings

(D) Estimates Committee

& &eaTenalUllev @BES! L GG 2 MILILN6T 8606 Gl&TETL & (LD 6TSI?
(A) QUITEI &HETTHGS & G (WD

(B) QUIEtOTHEBHE P & TTL06IT 5 5608 & T60T (& (LD

(C) QUIMEI Bl M6 6TTIBI G 61 & & ITE0T (&5 (LD

(D) L@USLH GW
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115. Who is called as the father of local-self Government in India?
(A) Lord Mayo (B) Lord Lytton (C) Lord Curzon (D) Lord Ripon
@BHH U 2 6TaTTL & emIDLIL| &6 60T HHeNS 6Te0T S eMNNSHHLILIGIGUT WITF?
(A) Guwewrr gy B) O Ler gy (C) si&Fet Ly (D) fltiuest gy

116. Which of the following has the power to establish zonal council?

(A) Act of Parliament (B) Presidential Order

(C) Supreme Court Judgement (D) Act of concern state

B LD & 556007 LU MNII6V LD6DOTL 6V (& (LDESHEMET BlMIG|D AFH&HTTLD Q\&Te00TL Sl 6TSI?
(A) BTLTEBLOETM FLL LD (B) ®19Ws se0606Uifl6dT 21,60 600T
(C) 257 BHneTm LI (D) rmlevmigserflesr &L L LD

117. Arrange the following committee in chronological order

1. Ashok Mehta Committee 2. GVK Rao Committee

3. LM Singhvi Committee 4. Balwant Rai Mehta Committee
(A) 4-3-2-1 (B) 4-1-2-3 (C) 4-1-3-2 (D) 1-4-2-3
L edTeu(hLD & (W& S5e6T STevalflensFLiL(h &S5

1. CBFMSH CLOSHSHT & (WD 2. GVK grmeu W

3. LM fiiel G 4. Levaubs Tl CNSST G W
(A) 4-3-2-1 (B) 4-1-2-3 (©) 4-1-3-2 (D) 1-4-2-3

118. Match the following

Union Territory Judiciary

(a) Daman and Diu - 1. Separate High Court

(b) Delhi - 2. Bombay High Court

(c) Lakshadweep - 3. Madras High Court

(d) Puducherry - 4. Kerala High Court

QUM S &

weoflwiedr LNITGH&LD BHSSIenm

(a) Lmoer nmmIh 6oL W, - 1. Beofl 2 wWFBEHn6TmLD

(b) QL6v6Y - 2. (plhemL 2 wyBHneTmLID

(c) @evl o556 - 3. QLgme 2 wrBH neTmL

(d) ussesrl - 4. Ga e 2 W HS et mLd
@ b @ @@

A) 4 1 2 3

(B) 2 1 4 3

© 4 1 3 2

(D) 1 2 4 3
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119. Which of the following article deal with the Union Territories?

(A) Article 52 to 151 (B) Article 152 to 237
(C) Article 239 to 241 (D) Article 245 to 263
FELDE 5600 FJ5 G166V W,eoflwetr LNTCHEFmIGemaTLl LIMM Gon MU 61512
(A) 9058l 52 (NG&6V 151 aUem T (B) 958! 152 (NG 6V 237 UMy
(C) 9831 239 (INSH6L 241 QU6 (D) Q& sl 245 (LNG6V 263 UM T

120. Which among the following statement is/are correct about Port Trust?
1. A port trust is created by Act of parliament
2. It manages and protect the ports
3. It provides civic amenties

(A) 1 only (B) 2 only

(C) 3 only (D) All the above

FBLESETLIMMIGT SeMUWsL QUTMILILEG GWWWw ummlwu sFflwmear gamenms

CaIBHES0

1. BILOEBLETMEF FLLSHT epeuld  JemmWsL  QuUmliUml&d &L
9 (HUMGHSHLILILL &I

2. @& SIOMINSHEISGE6T BITURSS LITSISGTEHER MSI

3. @8 G UFH&HMETS SHH M

(A) 1wL(W (B) 2 b _(p\d

(C) 3wl @Ld (D) GLoM&600TL. 2|6M60TSHSILD

121. Who has the power to administer the Union Territory?

(A) President (B) Administer

(C) Governor (D) Chief Minister
weoflwett LNpCsH&&53 60 BlFeUSH &G SIH ST QS TevoTLaul WITH?
(A) BYWIsHS Heneual (B) plyeur&)

(C) st Blemev oLEBHI (D) wseveury

122, Which Constitutional Amendment changes the name the Union Territory of Delhi as National
Capital Territory of Delhi?
(A) 67th Amendment Act (B) 68t Amendment Act
(C) 69th Amendment Act (D) 7oth Amendment Act
QLY wenflier KTCsEHmS, CHFW HMVBHT LGS 6rer QUWT LTMHMID QFUIS
FLLEHHSSD 6151?
(A) 67%9® L LEFH(HHS FL_L LD (B) 6828 5 5SS FLLLD
(C) 6998 F L HHSHS FLL LD (D) 702 g L& HES FL_L LD
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123. Choose the incorrect statement regarding the features of states?
(A) Its relationship with centre is federal
(B) It does not have any autonomy
(C) Uniformity in its administrative set-up
(D) Governor is a constitutional head of the state
LDMBleVEIEH 66T Y LDEFMIGHET LD SeUMTeT Samenms CHFTHAS M
(A) DEHUW TE&LET Sl LTES 2 meneud C\&meoor(h 6o
(B) @50® 6hs &WTLF WD G)6Vemn6y
(C) Gymeot BlFeUTSH &60T6OID
(D) @4@Bb1, DMHleVSS 60T HTFILIVMLDLIL| H6D6VEUT LU

124. According to Article-1 of Indian constitution, which of the following are classified as territory
of India?
1. Territories of the states
2. Union Territories
3. Territories that may be acquired by the Government of India at any time
(A) 1and 2 only (B) 2 and 3 only
(C) 1and 3 only (D) All the above
QBB ATRWevemDLIL] eqT&SI-1-60rLG LN6dT eu@peustralMmlev 6T @BFH W LIGH WS
S LILIMSSLILL (D 6TersI?
1. LOMBlevmmisserfledr LGS &6t
2. weoflwer LNyGCs & mIGe6rT
3. @BHW STFMeL &R TGS ILGLD LGS 86T
(A) 1 HmID 2 D@L (B) 2 nmmitb 3 LD
(C) 1 wmmid 3 LD (D) GLoM&600TL. 3|6M60TSH SILD

125. Match the following

(a) President 1. Real head in the State Executive
(b) Prime Minister 2. The First Citizen of India
(¢) Chief Minister 3. Nominal Head in the State Executive
(d) Governor 4. Head of the Government of India
QUMTBSS &
(a) GQWIEHS Hemevall 1. LDMBl6V BlT6UTE S S 60T 2_600T6M L0 UITEOT &6M6V6I T
(b)) Yoso SiWLESFT 2. @BHWITeN6T (LPS6V G51q.L08560T
(c) WwseveNFET 3. IDMBleV BITaUTEHSE) 60T QLIWIITETE|S &em6VelT
(d) =emBBr 4. QS W ST MHISSF6T Semeveul
@ G ©© (@@
(A) 1 2 3 4
(B) 2 4 1 3
© 2 1 3 4
(D) 4 2 3 1
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128.

129,
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TEST- 2

The chronological order of the following Chief Justice of India is

1. H. J. Kania 2.J.S. Verma

3. Mohammad Hidayatullah 4. P. Sathasivam

A)1,2,3,4 (B)1,3,2,4 ©1,2,4,3 (D) 2,4,3,1

@B WTeller Senevemnin BH LIS Gamer smev auiflenaliL(B &S5

1. H.J. sesflwurm 2.J.S. euom

3. (PBNG @ UISSIVEVIT 4.P. 5mHaild

A)1,2,3,4 (B)1,3,2,4 0 1,2,4,3 (D) 2,4,3,1

The ethics committee was constituted in Lok Sabha in the year

(A) 1998 (B) 2000 (C) 2002 (D) 2004

BT 6o & Cevmd FLMele BlaiauliLL L o600T(h

(A) 1998 (B) 2000 (C) 2002 (D) 2004

In which year the Central Vigilance Commission was enacted by the Parliament as a statutory
body?

(A) 1998 (B) 2003 (C) 2008 (D) 2010

NEH WG SHeooTHTeoo L] eneTWHMS 61HS LevoT(h LMTTEHIeTmD FLL LIl
emLIUTs el &5 S1?

(A) 2002 (B) 2003 (C) 2008 (D) 2010

Fundamental duties were incorporated in the constitution of the recommendation of
(A) Santhanam Committee

(B) First Administrative Reforms Commission

(C) Swaran Singh Committee

(D) Second Administrative Reforms Commission

WIT(H 60 LU uflbsiemgulledTulg  SqliUemLE  SLemnseaT TFlweveninlililey
3)60)600T&H &5 L1 LIL_L_60T?

(A) FbBaTeID GW

(B) wps6v plTeuns EFHMEHS 26016007 WILD

(C) erveuryevor EIMI &L

(D) @peuoTLmeu g HIFeuns EFHm& S <4,60)600TWILD

The United Nations Organisation (UNO) was established on

(A) 24th January, 1945 (B) 24t October, 1947
(C) 24t October, 1945 (D) 25t January, 1947
DEH W BMTH H6T eI TLICUTS QSMTLBISLILL L SI?

(A) sgevreurf] 24, 1945 (B) &4&G8Lmub 24, 1947
(C) &G 24, 1945 (D) sg6vt6uIf] 25, 1947
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When was the Maintenance and Welfare of Parents and Senior Citizens Act passed?

(A) 2004 (B) 2007 (C) 2009 (D) 2010

WHS GIQNESET WMHMID QUOHECMTT BeverseT Urmwifliygd FLLw  erlCungl
QuMMLUILLL&I?

(A) 2004 (B) 2007 (C) 2009 (D) 2010

When was the first Institution of Ombudsman created?

(A) 1809 (B) 1908 (C) 1918 (D) 1819
D& SHET GMSBTLILITWILD (N&6TLN&S6960 6TIQUMWS gMUMSS LI L &I?
(A) 1809 (B) 1908 (C) 1918 (D) 1819

Which one of the following right has increased the influence of the people over bureaucracy?
(A) Right to Equality (B) Right to Information

(C) Right to Education (D) Right to Freedom

BLDE5600TLeUMMIGT 6THS 2 flenld, AP &HTTSHHI6UEST 60T LGS T60T L0886 60T Cl&F6L6ITE 605
A& HEH QFURMS?

(A) Fngs60 2 _flemin (B) 356160 9ymlujld 2_flemn

(C) mevall mMmE D 2_flemin (D) #5685 0 2_[flenn

How many days Money bills can be delayed by the Rajya Sabha?

(A) 30 days (B) 45 days (C) 14 days (D) 28 days

515 DG TS TG 6IT LIEley  yemeuulleormey THHEM6eT  [BTL &6 LD
STSLLBGSSH6VTLD?

(A) 30 BITL_&6iT (B) 45 BITL_&s6iT (C) 14 BTL_&e6rT (D) 28 BT &6t

Choose the incorrect pair

(A) Union List - 100 subjects
(B) State List - 61 subjects
(C) Concurrent List - 42 subjects
(D) None of these

UMD GeneTenls CHIHASE0

(A) LEHWIL LI 16V - 100 160 M6
(B) inmmlevl] L 1q.uiev - 61 SlEMGET
(©) QumgIL UL 19uW6ev - 42 SIOMEH6T

(D) @eummilev gaiLsleuemey
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139.

140.

141.
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TEST- 2
Choose the correctly matched option
1. Kolkata High Court - High Courts Act, 1861
2. Chhattisgarh High Court - Madhya Pradesh Reorganization Act,2000
3. Madhya Pradesh High Court - Government of India Act,1935
4. Tripura High Court - Uttar Pradesh Reorganization Act,2000
(A) 1 and 3 only (B) 2 and 4 only
(C) 1,2 and 3 only (D) All the above
gflung QUITGHS WeTaTaheanmsd CHFHESMH
1. Q&MVESST 2 WFHH 06T ML -2 Wb neTmMm&HET &FLLLD,1861
2. FLIQVST 2 WHHHILD6eTmLD -wSHWUINTCsHEFI IMIFFamnLiL] FLL1D,2000
3. wWsEHW NgCssF 2 wFBHnearmd - @B W ANT&HFEFLLLD,1935
4. @flygm 2 wWFBH eTMLD -2 57 NyGsahd inm FyemioliL] &1L b, 2000
(A) 1 wmmibd 3 L GILD (B) 2 npmith 4 L (HLD
(©) 1,2 nmmith 3 L (HILD (D) GLoM&600TL. 2|6M60TSH SILD
Who determine the powers and functions of the Gram Sabha?
(A) District Collector (B) State Legislature
(C) Village Administrative Officer (D) President of the Village
@I FenLUNeT SIS STIHISET MHMILD Licoolls&eneT BlIeoorulliLig wimpy?
(A) wmaul L gl QWi (B) inmmlev &L DedTmLD
(C) ®ym mlFeurs svielF (D) 2_6iTemmL_& semeveuy

The Parliament of India have how many sessions?

(A) 2 (B) 3 () 4 (D) 6

@HH U LITTTEBHLO6TME BV 618586060 Fol LS STLTEHET 560)L_6LI MG 60T M 60T ?
(A) 2 (B)3 €4 (D) 6

In which year, the branch of Chennai High Court was created in Madurai?

(A) 2007 (B) 2006 (C) 2004 (D) 2002
QFeTemeT 2 WTHH LD6TMEF) 60T & eme6rT InGIenTuUleL 6ThHS 600T(H) QST HBIGLILIL L &I?
(A) 2007 (B) 2006 (C) 2004 (D) 2002

The 7314 constitutional Amendment Act came into force on

(A) 231 April, 1993 (B) 24t April, 1993

(C) 25t April, 1993 (D) 26t April, 1993

7398 9IrFlWevemDILF FLL S (HSSLD 6TLIGLMSI HeOL (LNEMMEHG 6UHSHSI?

(A) gL1g6L 23, 1993 (B) gL1g6b 24, 1993

(C) grL1g6v 25, 1993 (D) gL1g6v 26, 1993

In which year, ‘Pondicherry’ was renamed as ‘Puducherry’?

(A) 2005 (B) 2006 (C) 2010 (D) 2011
LImevor l9. &G flwmentgl LSIEGEFS] eTeor QUIWIF LOMMHMLD QFWIWLILL L 3600T(H 6TSI?
(A) 2005 (B) 2006 (C) 2010 (D) 2011
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In which case, Supreme Court ruled that the senior most judge of the Supreme Court should
alone be appointed to the office of Chief Justice of India?

(A) Fourth Judges case (B) Second Judges case

(C) Third Judges case (D) First Judges case

61hS eIp&ER, 2 .55 BHLaTmSHar nss BHUT LLOHCL @BEHW SHenevemnln
BHUSWMTs BlwblEsIU@eUTT eer 2 58 B Wwearmd SFLiLeflsss?

(A) pretT& MG HH LIS H6T UGS (B) @uevorL_meugl BH LIS &6IT 6L & & &6iT

(O) ewerrmmaug hH LG &6T ULpES (D) \ps6v BHLIGHGET 6ULpESG

In which year Central Bureau of Investigation was established?

(A) 1942 (B) 1963 (C) 1997 (D) 2005
ST W L|eVeTTUI6] SlenMm 6TH& 2b600T(H JHLGISSLILL L SI?
(A) 1942 (B) 1963 (C) 1997 (D) 2005

Which article of the Indian constitution says that the election of Lok sabha and Legislative
Assembly of every state shall be on the basis of Adult suffrage?

(A) Article 325 (B) Article 326 (C) Article 324 (D) Article 327
ID&G&ETemEl IDMMID MBIV FLL 06T CHIHLSEMT g aUbCHTT eumdh&flentn
QL1 UI6V BL&SH6vITLD 6Tedrml GMILILN (B SITFWevenIoLliL] 69 J8 S 6TSI?

(A) g5 8! -325 (B) 9058 -326 (C) 97531 -324 (D) aqp5 8 -327

Which part and articles of the Indian constitution deals with Elections?

(A) Part XV, Article 324-329

(B) Part XVI, Article 325-329

(C) Part XVI, Article 324-329

(D) Part XV, Article 325-329

TR WevemnLILNeT 6T LGS LMmmID a9r858 CHIH6VE6T LMMIS &MILILIRSHmS?
(A) L&S XV, 69058 324-329

(B) u&& XVI, 647631 325-329

(C) LEH XVI, 64058 324-329

(D) &S XV, 64768! 325-329

Consider the following statements

Assertion (A) The Constituion of India contains seven Fundamental Rights at the
beginning. Now, the Constitution of India classified the Fundamental
Rights under six groups

Reason (R) : Right to Property has been removed by the 44 Amendment Act,
1978.

(A) Both (A) and (R) are true, (R) is correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true
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FELDEG600TL FnMeMME 5561601186860
Fadimi (A) : @QBE W TR WenDLIL QSTL&HHESH 6V 6D 9 LILemL
2 flennsen6ns Q& mesorlq.(Fh&H . SMCLIMS Ml 1qL1LIemL
o flemln& 6T &ITe0T 2_6T6T6oT.
&mgevord (R) 1978-60 4498 9ITFWIVeNDLILF FLLSH(H5SH eTLIL,
Qemsaflenwmerg oq Ll 2 flennuledmbg B&Hen
QFEWWLILL® ML Lgl.
(A) (A) wmoibd (R) &1, (R) - opeoral (A)-6or siflwimet ellengsasLn.
(B) (A) mmomib (R) &1, (R) - @618 (A)-eor Fiflwiment ellemgssn 96060
(C) (A) #1fl epeormev (R) Houmy
(D) (A) mougy syeormev (R) &1f

147. Writ of Prohibition under Article 32, can be issued against whom among the following?
(A) Administrative Authorities
(B) Private individuals
(C) Judicial and quasi Judicial Authorities
(D) Legislative bodies
B LD G 600TL_6UT&HEB6T WITIHEHG THITEH HemL W MSSID HHLICLTTemneoor Qeusfluil_eumin?
(A) Blieuns & s miflaser
(B) sevfl BLITS6ET
(O) B8 wHoID LGS BHSSIMM B &M1& 6iT
(D) 5LL1n6Tm SjemLnLIL| 86T

148. Which of the following committee was not related to Electoral Reforms?

(A) Vohra Committee (B) Dinesh Goswami Committee

(C) Srikrishna Committee (D) Tanka Committee

LNeTau LD & (D& &6l60 CHIH60 FIH (H&HHMIGEHL 60T QSTLTL] @6V6VTHS 6TSI?
(A) Gaurmgm & (B) & Gevraq Gamervaumid] & W

(O) W A@meemT GW (D) LAsT W

149. Who is the chairman of zonal councils?

(A) President (B) Railway Minister

(C) Prime Minister (D) Home Minister
LD6DOTL_6V &5 (Lp8>856TT160T SH6mr6ually WITF?

(A) mearmHUS (B) @ruwilevCeu emn&F&F
(C) Ygsog (D) 2_digienm Siemns&y

150. Who does not belong to the six-member committee which recommends the appointment of
Chairman and members of National Human Rights Commission?
(A) Chairman of Rajya sabha (B) Prime Minister
(C) Deputy Chairman of Rajya sabha (D) Speaker of Lok sabha
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GHF W 06vflE 2_[flem LD & 6T 24,60 600T WS B 60T Hemevall InMmmID 2 miliLNeTFg&Hemer BlwLl &
UfhglenTE@&GLD om CUT Q&mesor & WelleL @6VeVT&HeUT WITF?
(A) IDTBleVBIHETEN6 &6MEVEUTT (B) NgsLog
(C) inmrlevmIGHeTemel Slemetors Semevall (D) g serenel FUMBITWST

151. If x:y=2:1,then (x2-y2) : (x2 + y2) is

(A)3:5 (B)5:3 (C1:3 D)3:1
X:y=2:1,e6mefley (x2-y2) : (X2 + y2) eTedTLISI
(A)3:5 (B)5:3 (C1:3 D)3:1

152. The average of 8 numbers is 20. The average of first two numbers is 15 % and that of the next

three is 21 § If the sixth number be less than the seventh and eighth number by 4 and 7

respectively, then the eighth number is?
(A) 18 (B) 22 (O 25 (D) 27
8 erevorg6rfleor FrmeEfl 20. (LNG&H6L @)\(H eTevorsserfledr Frmaif] 15% A5G 3 eTevorderfler FymaFifl

21 § 66U G| 6T600T 7-1D 6T6v0T6em600T NI 4 GemMe) LDMMILD 8-1D eT6ooTem600T el 7 GH6MmM6Y 6T6vf16V,

86 G 6T6U0T 6T6OTE0T?
(A) 18 (B) 22 (C) 25 (D) 27

153. The salaries of A, B, C are in the ratio of 2 : 3 : 5. If the increments of 15%, 10% and 20% are
allowed respectively in their salaries, then what will be the new ratio of their salaries?
(A)3:3:10 (B) 10: 11: 20
(C)23:33:60 (D) Cannot be determined
A, B, C Wler FOLIETHIGST 2 : 3 : 5 eTeoTm NRGHHF6L 2 6Tengl. aufserfler 2erGul
2 WFeYseT 15%, 10% WmmID 20% erer (WeMGEUW @UBHHTEV, SeUTserler HMHELITNG W
FlbUemmiGerfler eN& gD 6TeoTeor?

(A)g:3:10 (B) 10: 11: 20
(C)23:33:60 (D) auemgywmi&s @ uleunsl

154. The average temperature of the town in the first four days of a month was 58°. The average
for the second, third, fourth and fifth days was 60°. If the temperatures of the first and fifth
days were in the ratio 77 : 8, then what is the temperature on the fifth day?

(A) 64° (B) 620 (C) 560 (D) None of these

@ BHEIGHET @@h IMHHFHET WWFev 4 BTL&eflev Bleveld Fymell QeuliLpleney 58°,
@ TEOOTLTOUGI, CLNETMTEUG, BTSS! WMMID  NhsTagE Bl seflar  srmeif
Qauliumlemey 60° (PFHL WMHMID WHETaUE BT Gefledr GQeuliuplemey 7 : 8, eredrm
AR HEH L @ BHSTEV, 568! BTerfledr QeuLILIFlemev eTelaleTa)?

(A) 64° (B) 62° (C) 56° (D) @eumnilev erzi60LAl60em6V
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The average runs of a cricket player of 10 innings was 32. How many runs must he make in
his next innings so as to increase his average of runs by 4?

(A) 2 (B) 4 (G 70 (D) 76

@M H&asL afyiflar 10 @ereflmeder Frmail 32. sieurs FrmnaEflenwl 4 JeTsHeT Fnl L
D5 @ eTefIBIFL 36U 6T(H &S CeU6TITI) U [T6OTE 6T 6T6UAIETE)?

(A) 2 (B) 4 (G 70 (D) 76

Of the three numbers, the first is twice the second and the second is twice the third. The
average of the reciprocal of the numbers is % The numbers are

(A) 16, 8,4 (B) 20, 10,5 (C)24,12,6 (D) 36,18, 9

3 eTevoT S 61T16V, (LNG56V 6TE00T @) [J600TLITLD 6T6voTem600TeNL @) (H LOL MBI TG LD. @) [J600TLITLD 6T600T 31D

eTevoTem6ooT &l @\ (H LOLMBIG. @)\HS 6T600TS: 6N 60T HemevBLd Fiymeif 7—726T66ﬂ6i) HG 6T600TE 6T

WImemeu?
(A) 16, 8, 4 (B) 20,10, 5 (C) 24,12, 6 (D) 36, 18,9
The ratio of boys to girls in a class is 3:5 and difference between them is 10. then what is the

total strength of the class?

(A) 40 (B) 45 (C) 30 (D) 10

@ U@&LILN6v 2 66 nmevorel, Lnmevoredl &erflesr &G Ln 3 : 5 IMHMID @) HeU[HEGLD @emL Gl
o atem  AGHWMEFID 10 CUT eTevfley, euau@GLiLNeveTer LomeooTeUGH6Tl6edr QDTS S
6T600T600T 185 60) 8> 6T60T60T ?

(A) 40 (B) 45 (C) 30 (D) 10
Ifa:b:4:1thenﬁ+\/§is

A3 ®)2 ©? E
a:b:4:16r6m‘lsbﬁ+\/§asrredmas

A3 B2 (OF E

2A = 3B = 4C then the value of A: B: C is

(A)6:4:3 (B)12:8:6 C©) 5:4:9 D)7:7:9
2A = 3B = 4C etevflé A : B : C wiledr nH\LIL] &5M600TSH
(A)6:4:3 (B)12:8:6 C©) 5:4:9 D)7:7:9

A's income is 50% of B's income, B's income is 80% of C's income. If three people together
earns Rs.22000, What is the share of A?

(A) 1000 (B) 4000 (C) 2000 (D) 10,000

A uller au@pLomentLd, Bullesr aupLometg&Hlev 50%. Bulledr au@pnmeorid CulledT eu(hLnmeord S ev
80%. GO&ILD eeIBLD GFFHS eh. 22000 FIOLTHERMMTIHET 6Tevfle A ulledT eu(HLOMeOTLD
6T60T60T ?

(A) 1000 (B) 4000 (C) 2000 (D) 10,000
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If the ratio of two numbers is 3: 5. Subtracting 9 from each number gives the new ratio 12: 23
what is the biggest number of it?

(A) 27 (B) 45 (©) 60 (D) 55

@\ eTev0T&H61Tl60T NE G LD 3 : 5 62616\ 6U T 6T600T600T 160 (HIHSILD 983 &G BTV 2 (HEUMGLD LH W
&G0 12 : 23 eTevfleL Sjeumnilev QLIflu eT6voT 6TSI?

(A) 27 (B) 45 (C) 60 (D) 55

The average of the 11 numbers is 30. The average of the first 5 numbers is 25 and the average
of the last 5 numbers is 28. Find the 6th number.

(A) 55 (B) 65 © 75 (D) 85

11 eTevor&erfledt symeif] 30. WNH6L 5 etevorsserfledt Fymaif]l 25 MHMID &L & 5 erevorderfleor
Fur&Fifl 28 eTevfl6b 661G 6T600T60)600TE 55T600TS

(A) 55 (B) 65 © 75 (D) 85

Ifa:b=4:6 b:c=8:5thena:b:cis

(A) 2:3:4 (B)11:13:4 (C) 32:48:39 (D) 16 : 24: 15
a:b=4:6 b:c=8:5 erevfleva:b: cereireor?
(A) 2:3:4 (B)11:13:4 (C) 32:48:39 (D) 16 : 24: 15

The total cost of one horse and two cows is Rs. 680. If the price of a horse is 80 more than
price of a cow, what is the price ratio of a horse and cow?

(A) 12:5 B)7:5 (C)5:12 (D)5:7

R0 &Iy LmmID @reu® WMh&eflear QMEs alleme eh. 680 @ &% emnyuller
aflemeulmental DML 1g6T ellemevenl el 80 H&LD eTevflev GHem WMMID LOTLL].60T
aflemev NG GLD eT60T60T?

(A) 12:5 (B)7:5 (C) 5:12 (D)5:7

If the average weight of 40 students in a class is 50 kg and by adding the weight of a teacher
the average is increases by 2, what is the weight of the teacher?

(A) 120 kg (B) 130 kg (C) 140 kg (D) 132 kg

@) UGLILN6L 2 616 40 LomevoreuFaserflett Frmaif] eTeml 50 &).6) 6 248 flWifl6dT 6Tem L6t
GFIEGL CUTE FrnEflwmers 2 AH & lERME eTevflev, oG flulf 6T 6TevIL 6T6oT60T?

(A) 120 9.6 (B) 130 &.9 (C) 140 8.9 (D) 132 ®.99

The incomes of A, B and C are in the ratio of 2: 9: 11. If B's income is Rs. 280 greater than A's,
what is C's income?

(A) Rs. 480 (B) Rs. 440 (C)Rs. 540 (D) Rs. 450

A, B, C 948w eweaufledl au@BLOMeTRIGET 2 @ 9: 11 eTedim NHFEH6v 2 aTemeor. Bulledr
QUBLOMeoTLD Aufledr euBLOMeTSHemn s el e.280 3H\ 81D eTevflev CuN6dr 6uUHLOITEUTLD 6TEUAEITEY?
(A) em. 480 (B) em. 440 (C©) eb. 540 (D) em. 450
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The speeds of three cars are in the ratio of 2:3:4. Find the ratio of the time taken by them to
travel the same distance.
(A)4:3:2 (B)6:4:3 (C) 3:2:4 (D)3:4:6
eLNGOTMI GUetoTI) SerfletT Coussmigserfledr GG 2 & 3 : 4 6Tevflev ELNETMI CU6TOTIL.SHEBLD 62(1H
SOILVNL L STISams &L55 6T(hS S8 QG&TETEBLD &MTeVkIGH 66T NG gD eTeoTeor?
(A)4:3:2 (B)6:4:3 (C) 3:2:4 (D)3:4:6

Number of students in three classes are in the ratio of 2: 3: 5. If the number of students in
each class is increased by 20, the new ratio will be 4: 5: 77, total number of students in all three
classes before the increases were?

(A) 50 (B) 200 (©) 100 (D) 300

eLNETM eUGLILNevieTem LomesoTaufgserfledr eTevorevnflBemauiledt ell&BISID 2: 3: 5 @6UGaUT(IH
AGLUaI0n 20 LomeoreulseT AH&FSHELLULLTL UHW aISRsD 4: 5: 7 emeoflev
SLTIDLSH 6V eLN6iTMI 6UG LILIaVID 2_6T6IT QLIS & LD M600T6) 7861l 60T 6T600T 60011556008 6T6M A 6ITE)?
(A) 50 (B) 200 (C) 100 (D) 300

One vessel contain a mixture of milk and water in the ratio 3 : 2 and another vessel contain
equal quantity of mixture of milk and water in the ratio 4 : 1 respectively. Both the mixtures
are now mixed thoroughly. Find the ratio of milk to water in the new mixture so obtained.
A)3:7 (B)7:3 C)1:1 (D) 4:3

R0 LUTSEHTEHEF 3 : 2 e160Tm aHFHH 0 LMD, HeooTeoor(HlD HeVHS HeVemeU 2 6TeTl.
MAMTH UTSHTEHH 6V 4 : 16T60Tm IR SHE5H 60 LIMTEVILD &H600T600T(HLD &HeVHEH SHevemel 3CH
3|66 2_6TeTSl. @ T6ooTemL LD 6R63TMITSH &HeVHSMTL @LIQLIMTLRS! LI & 600T600f (HLD 6TH S
NE55H L @QBHEHGLD?

(A)3:7 B)7:3 (C)1:1 (D)4:3

Two numbers are in the ratio of 8: 5. If the larger number is 27 greater than the smallest
number, then sum of both the number is

(A) 117 (B) 118 (C) 115 (D) 116

@ 7evor(h) eTevoTSHET 8 : 5 eTedTm NHFEHH6L 2 6itemeor. QLW eTevor F\pJlul eTevoTemIcTOr AL 27
IH G0 6Tevf16V 26U M M 60T Fo(h) &6V

A) 117 (B) 118 (C) 115 (D) 116

In a group of 4 people, when 120kg weighted person is replaced by a new person then the
average weight increases by 3kg. How much does a new person weigh?

(A) 124 (B) 127 (C) 130 (D) 132

4 GUT Q&ML @@ Gwaley 120 &H.&H). eTemL 6T @MHaI(HHEG LHTsH @@ LS W
BUIE CFI&HEGL CuUMg, Frnasfl aemLwmearg 3 H.6 AH&FEHMmE eafley LT
BLIl60T eTemL eTela6TE)| §).6)?

(A) 124 (B) 127 (© 130 (D) 132
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The average score of 120 people in an exam is 35. The average score of those who have passed
the exam is 39 and the average of those who fails is 15. How many people have passed the
exam?
(A) 100 (B) 110 (C) 8o (D) 9o
@@ Csraléy 120 BUIseley Frmarl HLIQUer 35 GxFalley Qeumn) QLUmMMeuTserflesr
Frmaifl S LG U6 39 InMmmID GEmevallwenL heeaursertler &rmai] & LG LIeor 15 6Teflev
GxielleL QauMMIQLIMMEUTSHET 6T&SHem 60T GLIF?

(A) 100 (B) 110 (C) 8o (D) 90

Average of 13 numbers 36. If each number is multiplied by 3 then the average of the new
numbers is

(A) 108 (B) 120 (C) 104 (D) 106

13 eTevorderfledt Frmaf]l 36. 6UQEUTIH 6T600T6EM600T U 3-3L60 QLIHEHE6TTEL HemL &G
L&\ W eTevorgerfledr &iymarifl
(A) 108 (B) 120 (C) 104 (D) 106

The average score of a student in 4 subjects is 75. If he scores 80 in the 5t subject, what is
the average score of 5 subjects?

(A) 8o (B) 76 (C©) 92 (D) 95

&(H LDMeooTeU6dT 4 LIMLMBIS6flev 6T(hSHS FrmaFifl G LG L6 75. S6UeT 5-a18 LML &H60 80
DG LIQLI6ToTS6T 6T(H &G MTeV 5 LIMLMI&er 60T FImEFfl L0 LG LI6TIT 6T6UE6TE)?

(A) 8o (B) 76 (C) 92 (D) 95

What is the average speed of one's journey if he travels 1/3 of his distance at 60 km/h, the
next 1/2 is at 30 km/h, and the remainder is 10 km/h?

(A) 30 km/h (B) 33 - km/h

(C) 20 km/h (D) 50 km/h

SOOI SOTB LWLETSITHHO © UG SMT60s 60 B8/ el CaussHaib, AOSS ;
LMIG STI&Sems 30 &.15/ 106l GaussH b, LFH STrsHems 10 G).L5/neoll CaldssH el
LIW 600 ST 6Teofl6L 26U TSI LIWI6ooTe S 60T FImaifl Geussld eTeoTeor?

(A) 30 &.15/ oevol] (B) 33 gﬁahﬁ/ LD 6001 |

(C) 209115/ o 6wl (D) 50 &.15/ oevof]

Choose the correct statement

Statement 1: World Wildlife Day observed on 3¢ March every year

Statement 2: On this day Convention on International Trade in Endangered Species of
Wild Fauna and Flora (CITES) was signed

(A) 1 only (B) 2 only

(C)Both1and 2 (D) None of the above
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gilwme samenm CHTHOSMD
Famml 1: R6UGQAUTIH 2L600T(HLD LTS 3-1b GHH) 2 65 aleTall6UMIEG HeTINMS
LN &&0UGRMS
FaDHml 2: aleor 2 WIleoTRI&H6T QIISHH5MS ML QFUILD FIauGsHF eLILIbBSHLD
(CITES) @55 Hers5H 60 en&HQU(WSF L LILIL LS
(A) 1wL(Ww (B) 2 b _(p\b
(C) 1 mmild 2 @Fevor(H)LD (D) GumsevorL 61516 L8l6LEm6V

When did Dandi March Day observe?

(A) 10 March (B) 12 March

(C) 13 April (D) 12 April

S600TLY. WMSH e Heorld 6T Hrerflev e siflaas LGS mE?
(A) & 10 (B) nmg& 12

(C) gLigev 13 (D) griagev 12

Choose the incorrect statement
Statement 1: India and Oman conducted joint Navy exercise recently called-

“Al Nagah-IIT”

Statement 2 : The 314 edition of this exercise is held in Oman

(A) 1 only (B) 2 only

(C) Both1and 2 (D) None of the above

QUM FaMenm CHIBHGS 0

FnMml 1: @BHUWIT IDMMILD 06T BT(H&ET @) eM6eoTHS "6V TS 1117 eredTm LM
Lo 5FH e FLELIGSH 60 GLoMG & T6ooT L 60T [

FaMmI 2 : @bs LWIH& U6 3Ll LISILIL| (2019) eLnevflev HeMLQLIMHMSI

(A) 1 LG (B) 2 mL_ (@b

(C) 1 Lnmmild 2 @evor(hHLd (D) GumasetorL 61516 L8l6L6m6V

Which country hosted the Special Olympics World Games, 2019?

(A) Qatar (B) Japan

(C) United Arab Emirates (D) India

2019-94LD oyev0T(h) FIaICSHEF FMLIL| eedbLNE CUTLIG.&6m6T 6THS BMT(H LSS W SI?

(A) sgsm0 (B) ggLiimedr

(0) 255 W <7y Sgsid (D) @b wm

Who is the author of “Every Vote Counts: The Story of India's Elections”?

(A) Navin Chawla (B) Sunil Arora

(C) O.P. Rawat (D) Sukumar Sen

“Every Vote Counts: The Story of India's Elections” er6dtTm L& 585 H 60T 2P flwii wimy?
(A) meTer &meluevT (B) srevflev oGpmym

(C) O.P.yours (D) &@Wmy Q& et
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Who is appointed as the first transgender election ambassador by Election Commission?

(A) Shree Gawri Sawant (B) Joyita Mondal

(C) K. Prithika Yashini (D) Apsara Reddy

CHTHEV eM6ETTWILD FLSLISH 6V 6THS & ([HIHMHIENHMU (LNFH6V STHIQUTTSH Bl & SI6TeTg?
(A) uf Q&erifl FeaumedrL. (B) GQr&\&T Ln6voTL 60

(©) MflsE &m wradlesf] (D) gliFgm QULlg

Prime Minister Modi announced “April 2019-March 2020” as the
(A) Year of Pulses

(B) Year of Industrial Revolution 4.0

(C) Construction Technology Year

(D) Poshaan Year

gLigeL 2019 (PG6L IDMFE 2020 auemFuilevmenr HMeVEGMS LINTHIDF GLOTLY. 6TEOT6OT 3,600TL TS
SMlellggiemermy?

(A) smeoflw eu@BLLD

(B) asmblevgienm LTS au@LLd 4.0

(C) L@ wmerd Qs mbleLEIL LI aBLLD

(D) GUITaQ.m6dT eU@HLLD

Who is appointed as the first Lokpal of India?

(A) Pinaki Chandra Ghose (B) Hans Raj Khanna

(C) Jasti Chelameswar (D) Dipak Misra

@ BB U CeuMELIMTEL eMLOLILNET (NG 6L HenevalTmd BlIWL&S&LILL (B eTemeur Wimp?

(A) Neorm® sHH T Camay. (B) exmedreny [iTe3 & 600T600T T

(C) m6v1g. QFaLEVELNEY AT (D) §us e

Which of the following state launched the scheme of Yuvashree Plan-II (or) Yuvashree
Arpan?

(A) Punjab (B) Rajasthan

(C) Madhya Pradesh (D) West Bengal

Weuwf S L -II gjevevgl Weuwf o FLeT 6TedTm H L Gemg LleTalhld 6THS LOMBleVLD
I SLID QFUISI6TETSI?

(A) ueEpeTL (B) pregenu g meot

(©) wsHW VFEs&IDd (D) GM & 6umissLID

Which of the following countries have A-SAT (Anti-Satellite)?

1. China 2. USA 3. Russia
4. India 5. Britain

(A) 1,2, 3only (B) 2, 3, 4 only
(©)1,2,3,4o0nly (D) All the above
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Netreu@ld BT &erflel A-SAT QaTIN6LEHIL LIS S E 6 &Te0or(h 6TETen 6l 6T606U?

1. Georm 2. 9| ifl&sm 3. gequir

4. @BH W 5. Ll LeoT

(A) 1,2, 3 LLEW (B) 2, 3, 4 oL _(HILD

(C) 1,2,3, 40D (D) Gomas6voTL 3{6m60TS SILD
Where is 79th Indian History Congress held recently?

(A) New Delhi, NCT (B) Bhopal, Madhya Pradesh
(C) Chennai, Tamil Nadu (D) Ranchi, Jharkhand

79-618 @ BT W QUTeLTMHMI SMTHIGTeN FLSLISSH 6L 6THIG HeLQALIMMSI?

(A) ys! Hevedl (NCT) (B) Gumumev, P W LNg8s &b
(C©) QFetement, HLALDBTGH (D) pmeh ), 3myssgsev0rL

What is the theme of World Autism Awarness Day - 2019?

(A) Empowering Women and Girls Autism

(B) Assistive Technologies, Active Participation

(C) Towards Autonomy and Self-Determination

(D) Inclusion and Neuro Diversity

2019 QL,600TIq MET6T 2 608 2L 19 FL1D eNLAILIL|600TT6) F)60TE S 60T &5 ([HLIGLIMTIHET 6T6OT60T?
(A) Empowering Women and Girls with Autism

(B) Assistive Technologies, Active Participation

(C) Towards Autonomy and Self-Determination

(D) Inclusion and Neuro Diversity

Which of the following countries participated in Exercise African Lion — 2019 held at
Morocco?

(A) India - Morocco

(B) India — USA - Japan

(C) Morocco - USA

(D) India - Senagal

QumymsEeasmalley BemLQumm African Lion — 2019 ererm LWIH&AUNL HLp& & 600TL
BB Serflev eTemeu LIMIGE MM eor?

(A) @BHWT - QITHEEST

(B) @b®wm - Q& ssm - &UiLImeT

(C) QMIT&ECsHT — QAWK &HET

(D) @bHWIT - Q&F6TSH60

Which of the following country is going to host 2024 Summer Olympics?

(A) Japan (B) South Korea (C) India (D) France

L edreuneuseummilev Camenl_&asmey edlDLE 2024 8 LSS5 HEHGLD BT 6TSI1?
(A) saliumedr B) agear@sriflum (C) @bswim (D) YigmesTar
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190. Choose the correct statement
Statement1 India ranks 76t place in 27d edition of Global Energy Transition
Index.
Statement2 This index is compiled by TERI and International Atomic Energy
Agency (IAEA)
(A) 1only (B) 2 only
(C) Both1and 2 (D) None of the above
gflwmer & penws CHIHAS0
FaHml 1 : @ TEOOTLITOUS 2 6085 L,MM6L WMMme GmIuTgev @bHuwm 7622
@QILSF60 2_6Tengl.
Fammi 2 : TERI inmmith IAEA oS uwiemnel @ enemorbgl @& E&mMIuil_enl
Q&M 85 60T M 60T
(A) 1 LD (B) 2 nL_(ptbd
(©) 1 moih 2 (D) @eummlev ergi6]l6vem6y
191. Who is the author of “Indian Fiscal Federation’?
(A) Y.V. Reddy (B) Raguram Rajan
(C) N.K. Singh (D) Bimal Jalan
‘Indian Fiscal Federation’ &3 et wiauy wWmiy?
(A) Y.V.QrLlig (B) p&ymib gregeor
(C) N.K.e\m (D) Lfn6v Fevimedr
192. Which of the following countries are member of G-20 summit?

193.

1. Japan 2.USA 3. India

4. Thailand 5. Turkey

(A) 1,2, 3, 4only (B) 1, 2, 3 only
(C)1,2,3,50nly (D) All the above
GLps s eoorL BTH &H6l60 G-20 2 FRIDMBTL Q60T 2 MILILN6OTTE 6T 6Tem6u?
1. sgLILITedT 2. 910 fl&sm 3. @BSwIT

4. sTUIeVMHS! 5. SI([HEH

(A) 1,2 3,4 LB (B) 1,2, 3 LB

(C) 1,2, 3,s5 DD (D) GLoM&600TL. 2|6M60TSH SILD

“Order of Saint Andrew the Apostle” is the highest honour of which of the following country?
(A) United Arab Emirates (B) France

(C) Britain (D) Russia

“Order of Saint Andrew the Apostle” eretTLIZI SLD& &L 6THSE BT IQeT L& 2 wiflw
aNma?

(A) 86RW ST TSI (B) Yymedreny

(C) YL Leor (D) peiquurr
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Deepa Malik related to which of the following sports?

(A) Boxing (B) Wrestling

(C) ShotPut (D) Athelete

FUIT meds ELps s 6oL 6THGS elemeTWML (AL 60T Q&ML L6 UI6U]?
(A) &58155amenL (B) mebwgsLd

(C) evor® erflgev (D) sL&ermD

195. Which of the following organisation launched the initiative of “Yuva Vigyani Karyakram” —

196.

(Yuvika)?

(A) Ministry of Human Resource Development

(B) Indian Space Research Organisation (ISRO)

(C) University Grant Commission (UGC)

(D) Defence Research and Development Organization (DRDO)
Nemeu@ld 6T emnlil “weu  ellehepmeoll  SrfluSpmn(welsm)” S LG5
S0 GE) UL 6TemgI?

(A) etz auer GILIMTL (D 2jeMNEFFSHLID

(B) @5 w ellevorQeuer] ourmil&ds siemwliL] (ISRO)

(C) uvEmEVESHLPS nmeflw G (UGC)

(D) urgisTLiY ImUER mmid Cunur’ @ Bloeierin (DRDO)

2019 year’s Earth hour observed on

(A) 30 March, 7: 30 pm

(B) 30 March, 8 : 30 pm

(C) 30 March, 9 : 30 pm

(D) 30 March, 8 pm

2019 oye00T1q M MeoT LjeNl GBHITLD 6TLICLIMSI & flH&H LI L &I?
(A) wmyg 30, GBI 7:30 pm

(B) & 30, @By 8: 30 pm

(C) wmyg 30, GBI 9 : 30 pm

(D) & 30, GBI 8 pm

197. Which of the following countries launched it’s first satellite “Raavana-1”?

(A) Bangladesh (B) Pakistan

(C) Sri Lanka (D) Mauritius

FBLpE&H ST BTHI&HET 618, SV (PSH6V QFWMeNs H GoHITETITET “[IITeU6vOTT-1" &3
el 6voT6v0l 16V Q& 8V & D) UL|6IT6TS1?

(A) aumIsmerTLd (B) um&levgmeot

(C) @evmiemnss (D) Quomriflgweny
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198. World’s high altitude Polling Station — Tashigang is located in which of the following state in
India?
(A) Jammu and Kashmir (B) Himachal Pradesh
(C) Arunachal Pradesh (D) Assam

2 HCHCW W& 2 WILDMeT UTHGLILSH 6| MWWBISmeTd: Q&ML — LAGTHES
BLDEG60TL 6THS @ HSH W DTHleVSH 6V 2 6TeTSI?

(A) abp &Taq LSy (B) anfliomggeuls NG &0

(C) symevormeFeull LNpCs&LD (D) &y&5md

199. Which of the following country topped in World Press Freedom Index - 2019?

(A) Norway (B) Finland

(C) Sweden (D) Netherland

201988 M6T 2_6V& 2018 &SHFH T GMIUTL19.60 (edTenfleney U &G LD BT 6TSI1?
(A) BTFGeu (B) Netrevrmba

(C) evefLedr (D) QpsTeuMHEl

200. Where was Global Water Summit -2019 held?

(A) New Delhi (B) Doha

(C) London (D) Singapore

2 eusermallw B 2 &8 wrBm@H -2019 6MHIG HeOLQLIMHMSI?
(A) usIBevedl (B) Ggmamm

(C) svevoTL_60T (D) ms Ly
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Test — 4
GENERAL STUDIES ANSWER KEY

1 2 3 4 5 6 7 8 9 10
D C B B B A B B C B
11 12 13 14 15 16 17 18 19 20
A A B A A B B A A D
21 22 23 24 25 26 27 28 29 30
D D A B C A C B D B
31 32 33 34 35 36 37 38 39 40
A D A A A D A A B C
41 42 43 44 45 46 47 48 49 50
A A C C B C A B C B
51 52 53 54 55 56 57 58 59 60
A D D D A D D B B A
61 62 63 64 65 66 67 68 69 70
B C A C A C B B B A
71 72 73 74 75 76 77 78 79 80
D D D A A D A B B A
81 82 83 84 85 86 87 88 89 90
C C D D C C D B C B
91 92 93 94 95 96 97 98 99 100
C A A D D D C A B A

101 102 103 104 105 106 107 108 109 110
C A A D C A C A A A
111 112 113 114 115 116 117 118 119 120
D C D D D A B B C D
121 122 123 124 125 126 127 128 129 130
A C B D B B B B C C
131 132 133 134 135 136 137 138 139 140
B A B C C C B B C B
141 142 143 144 145 146 147 148 149 150
B B B B A A C C D A
151 152 153 154 155 156 157 158 159 160
A C C A D C A D A B
161 162 163 164 165 166 167 168 169 170
D B D B D B B C B A
171 172 173 174 175 176 177 178 179 180
D A A B C C B A C A
181 182 183 184 185 186 187 188 189 190
A C A D C B B C D A
191 192 193 194 195 196 197 198 199 | 200
A C D C B B C B A C




